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Read the following passage carefully and answer the next five questions by choosing the
correct options :

A great part of Arabia is desert. Here there is nothing but sand and rock. The sand is so hot
that you cannot walk over it with your bare feet in the daytime. Here and there in the desert are
springs of water that come from deep down under the ground - so deep that the sun cannot dry
them up. These springs are few and far apart, but wherever there is one, trees grow tall and
graceful making a cool, green, shady place around the spring. Such a place is called an oasis.

The Arabs who are not in the cities live in the desert all the year round. They live in tents that
can be put up and taken down very easily and quickly so that they can move from one oasis to
another, seeking grass and water for their sheep, goats, camels and horses. These desert Arabs eat
ripe, sweet figs, and also the dates that grow upon the palm trees; they dry them, too, and use
them as food all the year round.

These Arabs have the finest horses in the world. An Arab is very proud of his riding horse,
and loves him almost as much as he loves his wife and children. He never puts heavy loads upon
his horse, and often lets him stay in the tent with his family.

The camel is much more useful to the Arab than his beautiful horse, however, for he is much larger
and stronger. One camel can carry as much as or more than two horses. The Arab loads the camel
with goods and rides him, too, for miles and miles across the desert - just as if it were really the
“Ship of the Desert”, which it is often called.

Which of the following is not a part of the geography of the Arab world ?
(1) sand and rock

(2) high mountain ranges

(3) wunderground springs of water

(4) tall trees

Options :
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Read the following passage carefully and answer the next five questions by choosing the
correct options :

A great part of Arabia is desert. Here there is nothing but sand and rock. The sand is so hot
that you cannot walk over it with your bare feet in the daytime. Here and there in the desert are
springs of water that come from deep down under the ground - so deep that the sun cannot dry
them up. These springs are few and far apart, but wherever there is one, trees grow tall and
graceful making a cool, green, shady place around the spring. Such a place is called an oasis.

The Arabs who are not in the cities live in the desert all the year round. They live in tents that
can be put up and taken down very easily and quickly so that they can move from one oasis to
another, seeking grass and water for their sheep, goats, camels and horses. These desert Arabs eat
ripe, sweet figs, and also the dates that grow upon the palm trees; they dry them, too, and use
them as food all the year round.

These Arabs have the finest horses in the world. An Arab is very proud of his riding horse,

and loves him almost as much as he loves his wife and children. He never puts heavy loads upon
his horse, and often lets him stay in the tent with his family.
The camel is much more useful to the Arab than his beautiful horse, however, for he is much larger
and stronger. One camel can carry as much as or more than two horses. The Arab loads the camel
with goods and rides him, too, for miles and miles across the desert - just as if it were really the
“Ship of the Desert”, which it is often called.

Which animal is the most useful for the Arabs in the desert ?

(1) Goat
(2) Sheep
(3) Camel
(4) Horse
Options :
54025056845. 1

54025056846. 2
54025056847. 3
54025056848. 4
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Read the following passage carefully and answer the next five questions by choosing the
correct options :

A great part of Arabia is desert. Here there is nothing but sand and rock. The sand is so hot
that you cannot walk over it with your bare feet in the daytime. Here and there in the desert are
springs of water that come from deep down under the ground - so deep that the sun cannot dry
them up. These springs are few and far apart, but wherever there is one, trees grow tall and
graceful making a cool, green, shady place around the spring. Such a place is called an oasis.

The Arabs who are not in the cities live in the desert all the year round. They live in tents that
can be put up and taken down very easily and quickly so that they can move from one oasis to
another, seeking grass and water for their sheep, goats, camels and horses. These desert Arabs eat
ripe, sweet figs, and also the dates that grow upon the palm trees; they dry them, too, and use
them as food all the year round.

These Arabs have the finest horses in the world. An Arab is very proud of his riding horse,
and loves him almost as much as he loves his wife and children. He never puts heavy loads upon
his horse, and often lets him stay in the tent with his family.

The camel is much more useful to the Arab than his beautiful horse, however, for he is much larger
and stronger. One camel can carry as much as or more than two horses. The Arab loads the camel
with goods and rides him, too, for miles and miles across the desert - just as if it were really the
“Ship of the Desert”, which it is often called.

Which of the following is not true about an ‘Oasis” ?
(1) itis a waterhole

(2) a shallow place

(3) an incubator

(4) a safe and cool shelter

Options :

54025056849. 1
54025056850. 2
54025056851. 3
54025056852. 4
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Read the following passage carefully and answer the next five questions by choosing the
correct options :

A great part of Arabia is desert. Here there is nothing but sand and rock. The sand is so hot
that you cannot walk over it with your bare feet in the daytime. Here and there in the desert are
springs of water that come from deep down under the ground - so deep that the sun cannot dry
them up. These springs are few and far apart, but wherever there is one, trees grow tall and
graceful making a cool, green, shady place around the spring. Such a place is called an oasis.

The Arabs who are not in the cities live in the desert all the year round. They live in tents that
can be put up and taken down very easily and quickly so that they can move from one oasis to
another, seeking grass and water for their sheep, goats, camels and horses. These desert Arabs eat
ripe, sweet figs, and also the dates that grow upon the palm trees; they dry them, too, and use
them as food all the year round.

These Arabs have the finest horses in the world. An Arab is very proud of his riding horse,
and loves him almost as much as he loves his wife and children. He never puts heavy loads upon
his horse, and often lets him stay in the tent with his family.

The camel is much more useful to the Arab than his beautiful horse, however, for he is much larger
and stronger. One camel can carry as much as or more than two horses. The Arab loads the camel
with goods and rides him, too, for miles and miles across the desert - just as if it were really the
“Ship of the Desert”, which it is often called.

What is/are the reason/s for the camel being referred to as the “Ship of the Desert” ?
(1) It is bigger and stronger than a horse.

(2) The Arabs can ride them for miles across the desert.

(3) It can carry more load than a horse can.

(4) All of the above.

Options :
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Read the following passage carefully and answer the next five questions by choosing the
correct options :

A great part of Arabia is desert. Here there is nothing but sand and rock. The sand is so hot
that you cannot walk over it with your bare feet in the daytime. Here and there in the desert are
springs of water that come from deep down under the ground - so deep that the sun cannot dry
them up. These springs are few and far apart, but wherever there is one, trees grow tall and
graceful making a cool, green, shady place around the spring. Such a place is called an oasis.

The Arabs who are not in the cities live in the desert all the year round. They live in tents that
can be put up and taken down very easily and quickly so that they can move from one oasis to
another, seeking grass and water for their sheep, goats, camels and horses. These desert Arabs eat
ripe, sweet figs, and also the dates that grow upon the palm trees; they dry them, too, and use
them as food all the year round.

These Arabs have the finest horses in the world. An Arab is very proud of his riding horse,
and loves him almost as much as he loves his wife and children. He never puts heavy loads upon
his horse, and often lets him stay in the tent with his family.

The camel is much more useful to the Arab than his beautiful horse, however, for he is much larger
and stronger. One camel can carry as much as or more than two horses. The Arab loads the camel
with goods and rides him, too, for miles and miles across the desert - just as if it were really the
“Ship of the Desert”, which it is often called.

Which of the following statements is not true about the horses of the Arabs ?
(1) The Arabs love them as much as they love their wife and children

(2) They are the only means of transport

(3) They are the finest horses in the world

(4) The Arabs never overload their horses

Options :

54025056857. 1
54025056858. 2
54025056859. 3
54025056860. 4
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Read the following passage carefully and answer the next five questions by choosing the
correct options :

ILam a king, I am a slave,
I am a worm, I am God,
DERZHAVIN
The following day Charsky sought our room number 35 in the dark and dirty corridor of an
inn. He stopped at the door and knocked. The Italian of the previous day opened the door.

“Victory!” Charsky said to him. “The affair is settled. The Princess --- offers you her salon.
Atabig party last night I succeeded in recruiting half Petersburg. Get your tickets and programmes
printed. I guarantee you, if not a triumph, at least a profit. . . .”

“And that's the main thing!” cried the Italian, expressing his delight by a spate of lively
movements, characteristic of his southern origin. “I knew that you would help me. Corpo di Bacco!
You are a poet like myself, and there’s no denying that poets are splendid fellows! How can I
express my gratitude ? Wait. . . would you like to hear an improvisation?”

“An improvisation! . . . But can you do without an audience, without music, without the
thunder of applause?”

“Nonsense! Where could I find a better audience ? You are a poet, you will understand me
better than others, and your quiet encouragement will mean more to me than whole storms of
applause. . . . Find yourself a seat somewhere and give me a theme”.

are splendid fellows.

(1) Poets

(2) Italians

(3) Boys

(4) Audience
Options :
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Read the following passage carefully and answer the next five questions by choosing the
correct options :

ILam a king, I am a slave,
I am a worm, I am God,
DERZHAVIN
The following day Charsky sought our room number 35 in the dark and dirty corridor of an
inn. He stopped at the door and knocked. The Italian of the previous day opened the door.

“Victory!” Charsky said to him. “The affair is settled. The Princess --- offers you her salon.
Atabig party last night I succeeded in recruiting half Petersburg. Get your tickets and programmes
printed. I guarantee you, if not a triumph, at least a profit. . . .”

“And that's the main thing!” cried the Italian, expressing his delight by a spate of lively
movements, characteristic of his southern origin. “I knew that you would help me. Corpo di Bacco!
You are a poet like myself, and there’s no denying that poets are splendid fellows! How can I
express my gratitude ? Wait. . . would you like to hear an improvisation?”

“An improvisation! . . . But can you do without an audience, without music, without the
thunder of applause?”

“Nonsense! Where could I find a better audience ? You are a poet, you will understand me
better than others, and your quiet encouragement will mean more to me than whole storms of

applause. . . . Find yourself a seat somewhere and give me a theme”.
The Princess offered to the Italian :
(1) ajob

(2) a salon
(3) a ticket
(4) an Invitation to a party

Options :
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Read the following passage carefully and answer the next five questions by choosing the
correct options :

ILam a king, I am a slave,
I am a worm, I am God,
DERZHAVIN

The following day Charsky sought our room number 35 in the dark and dirty corridor of an
inn. He stopped at the door and knocked. The Italian of the previous day opened the door.

“Victory!” Charsky said to him. “The affair is settled. The Princess --- offers you her salon.
Atabig party last night I succeeded in recruiting half Petersburg. Get your tickets and programmes
printed. I guarantee you, if not a triumph, at least a profit. . . .”

“And that's the main thing!” cried the Italian, expressing his delight by a spate of lively
movements, characteristic of his southern origin. “I knew that you would help me. Corpo di Bacco!
You are a poet like myself, and there’s no denying that poets are splendid fellows! How can I
express my gratitude ? Wait. . . would you like to hear an improvisation?”

“An improvisation! . . . But can you do without an audience, without music, without the
thunder of applause?”

“Nonsense! Where could I find a better audience ? You are a poet, you will understand me
better than others, and your quiet encouragement will mean more to me than whole storms of
applause. . . . Find yourself a seat somewhere and give me a theme”.

An improvisation is incomplete without
(1) an audience

(2) music

(3) applause

(4)  All the above

Options :
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Read the following passage carefully and answer the next five questions by choosing the
correct options :

ILam a king, I am a slave,
I am a worm, I am God,
DERZHAVIN
The following day Charsky sought our room number 35 in the dark and dirty corridor of an
inn. He stopped at the door and knocked. The Italian of the previous day opened the door.

“Victory!” Charsky said to him. “The affair is settled. The Princess --- offers you her salon.
Atabig party last night I succeeded in recruiting half Petersburg. Get your tickets and programmes
printed. I guarantee you, if not a triumph, at least a profit. . . .”

“And that's the main thing!” cried the Italian, expressing his delight by a spate of lively
movements, characteristic of his southern origin. “I knew that you would help me. Corpo di Bacco!
You are a poet like myself, and there’s no denying that poets are splendid fellows! How can I
express my gratitude ? Wait. . . would you like to hear an improvisation?”

“An improvisation! . . . But can you do without an audience, without music, without the
thunder of applause?”

“Nonsense! Where could I find a better audience ? You are a poet, you will understand me

better than others, and your quiet encouragement will mean more to me than whole storms of
applause. . . . Find yourself a seat somewhere and give me a theme”.

How did the Italian express his gratitude to Charsky ?
He did it through

(1) apoem
(2) praise
(3) ahug

(4) an improvisation
Options :
54025056873. 1
54025056874. 2
54025056875. 3
54025056876. 4
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Read the following passage carefully and answer the next five questions by choosing the
correct options :

I am a king, [ am a slave,
I am a worm, I am God,
DERZHAVIN
The following day Charsky sought our room number 35 in the dark and dirty corridor of an
inn. He stopped at the door and knocked. The Italian of the previous day opened the door.

“Victory!” Charsky said to him. “The affair is settled. The Princess --- offers you her salon.
At a big party last night I succeeded in recruiting half Petersburg. Get your tickets and programmes
printed. I guarantee you, if not a triumph, at least a profit. . . .”

“And that's the main thing!” cried the Italian, expressing his delight by a spate of lively
movements, characteristic of his southern origin. “I knew that you would help me. Corpo di Bacco!
You are a poet like myself, and there’s no denying that poets are splendid fellows! How can I
express my gratitude ? Wait. . . would you like to hear an improvisation?”

“An improvisation! . . . But can you do without an audience, without music, without the
thunder of applause?”
“Nonsense! Where could I find a better audience ? You are a poet, you will understand me

better than others, and your quiet encouragement will mean more to me than whole storms of
applause. . . . Find yourself a seat somewhere and give me a theme”.

Match the words in List - [ with their meanings in List - IL

List - I List - II
(Word) (Meaning)
(A) lively ()  series
(B) splendid (I)  success
(C) spate (III) active
(D) triumph (IV) beautiful

Choose the correct answer from the options given below :

(1) (A1), (B)-(ID), (©)-(@), (D)-(1V)
(2)  (A)-IV), (B)-(D), (O(), (D)-(IT)
(3)  (A)-(1ID), (B )(IV) (©-0), (D)-(I)
(4)  (A)-(D), (B)-IV), (C)-(), (D)-([0)
Options :

54025056877. 1
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54025056879. 3
54025056880. 4
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Read the following passage, and answer the next five questions by choosing the correct
options :

Ungquestionably a literary life is for the most part an unhappy life; because, if you have
genius, you must suffer the penalty of genius; and, if you have only talent, there are so many cares
and worries incidental to the circumstances of men of letters, as to make life exceedingly miserable.
Besides the pangs of composition, and the continuous disappointment which a true artist feels at
his inability to reveal himself, there is the ever-recurring difficulty of gaining the public ear. Young
writers are buoyed up by the hope and the belief that they have only to throw that poem at the
world’s feet to get back in return the laurel-crown; that they have only to push that novel into
print to be acknowledged at once as a new light in literature. You can never convince a young
author that the editors of magazines and the publishers of books are a practical body of men, who
are by no means frantically anxious about placing the best literature before the public. Nay, that
for the most part they are mere brokers who conduct their business on the hardest lines of a Profit
and Loss account. But supposing your book fairly launches, its perils are only beginning. You have
to run the gauntlet of the critics.

A time comes in the life of every author when he regards critics as comical rather than
formidable, and goes his way unheeding. But there are sensitive souls that yield under the
chastisement and, perhaps after suffering much silent torture, abandon the profession of the pen
for ever. Keats, perhaps, is the saddest example of a fine spirit hounded to death by savage criticism;
because, whatever his biographers may aver, that furious attack of Gifford and Terry undoubtedly
expedited his death. But no doubt there are hundreds who suffer keenly hostile and unscrupulous
criticism, and who have to bear that suffering in silence, because it is a cardinal principle in literature
that the most unwise thing in the world for an author is to take public notice of criticism in the way
of defending himself. Silence is the only safeguard, as it is the only dignified protest against insult
and offence.

Why is the literary life mostly an unhappy one -
(1) due to the attitude of the publishers
(2) because of the criticism of the critics
(3) pangs of composition
(4) All of the above
Options :
54025056881. 1
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54025056884. 4
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Read the following passage, and answer the next five questions by choosing the correct
options :

Ungquestionably a literary life is for the most part an unhappy life; because, if you have
genius, you must suffer the penalty of genius; and, if you have only talent, there are so many cares
and worries incidental to the circumstances of men of letters, as to make life exceedingly miserable.
Besides the pangs of composition, and the continuous disappointment which a true artist feels at
his inability to reveal himself, there is the ever-recurring difficulty of gaining the public ear. Young
writers are buoyed up by the hope and the belief that they have only to throw that poem at the
world’s feet to get back in return the laurel-crown; that they have only to push that novel into
print to be acknowledged at once as a new light in literature. You can never convince a young
author that the editors of magazines and the publishers of books are a practical body of men, who
are by no means frantically anxious about placing the best literature before the public. Nay, that
for the most part they are mere brokers who conduct their business on the hardest lines of a Profit
and Loss account. But supposing your book fairly launches, its perils are only beginning. You have
to run the gauntlet of the critics.

A time comes in the life of every author when he regards critics as comical rather than
formidable, and goes his way unheeding. But there are sensitive souls that yield under the
chastisement and, perhaps after suffering much silent torture, abandon the profession of the pen
for ever. Keats, perhaps, is the saddest example of a fine spirit hounded to death by savage criticism;
because, whatever his biographers may aver, that furious attack of Gifford and Terry undoubtedly
expedited his death. But no doubt there are hundreds who suffer keenly hostile and unscrupulous
criticism, and who have to bear that suffering in silence, because it is a cardinal principle in literature
that the most unwise thing in the world for an author is to take public notice of criticism in the way
of defending himself. Silence is the only safeguard, as it is the only dignified protest against insult
and offence.

What attitude should an author adopt in the face of bitter critics ?
(1) beat every critic brutally

(2) respond to every critic individually

(3) defend oneself against every criticism

(4) maintain silence to pose a dignified protest against insult and offence

Options :
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Read the following passage, and answer the next five questions by choosing the correct
options :

Unquestionably a literary life is for the most part an unhappy life; because, if you have
genius, you must suffer the penalty of genius; and, if you have only talent, there are so many cares
and worries incidental to the circumstances of men of letters, as to make life exceedingly miserable.
Besides the pangs of composition, and the continuous disappointment which a true artist feels at
his inability to reveal himself, there is the ever-recurring difficulty of gaining the public ear. Young
writers are buoyed up by the hope and the belief that they have only to throw that poem at the
world’s feet to get back in return the laurel-crown; that they have only to push that novel into
print to be acknowledged at once as a new light in literature. You can never convince a young
author that the editors of magazines and the publishers of books are a practical body of men, who
are by no means frantically anxious about placing the best literature before the public. Nay, that
for the most part they are mere brokers who conduct their business on the hardest lines of a Profit
and Loss account. But supposing your book fairly launches, its perils are only beginning. You have
to run the gauntlet of the critics.

A time comes in the life of every author when he regards critics as comical rather than
formidable, and goes his way unheeding. But there are sensitive souls that yield under the
chastisement and, perhaps after suffering much silent torture, abandon the profession of the pen
for ever. Keats, perhaps, is the saddest example of a fine spirit hounded to death by savage criticism;
because, whatever his biographers may aver, that furious attack of Gifford and Terry undoubtedly
expedited his death. But no doubt there are hundreds who suffer keenly hostile and unscrupulous
criticism, and who have to bear that suffering in silence, because it is a cardinal principle in literature
that the most unwise thing in the world for an author is to take public notice of criticism in the way
of defending himself. Silence is the only safeguard, as it is the only dignified protest against insult
and offence.

Match the words/expressions in List - I with their meanings in List - IL.
List - I List - II

(A) pangs of composition (I)  over enthusiastic

(B) buoyed up by the hope (I) middlemen

(C) mere brokers (II) dishonest

(D) unscrupulous (IV) pain of creativity

Choose the correct answer from the options given below :

(1) (A-1V), (B)-(H) (©)-(D), (D)-(1)

(2 (A)- (HI () (O-(1V), (D)-(1I)
(3) (A1), (B)-(I), (O)-(D), (D)-(IV)
(4) (A)-(1IV), ( )() (©)-(10), (D)-()
Sanzsusesss
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Read the following passage, and answer the next five questions by choosing the correct
options :

Ungquestionably a literary life is for the most part an unhappy life; because, if you have
genius, you must suffer the penalty of genius; and, if you have only talent, there are so many cares
and worries incidental to the circumstances of men of letters, as to make life exceedingly miserable.
Besides the pangs of composition, and the continuous disappointment which a true artist feels at
his inability to reveal himself, there is the ever-recurring difficulty of gaining the public ear. Young
writers are buoyed up by the hope and the belief that they have only to throw that poem at the
world’s feet to get back in return the laurel-crown; that they have only to push that novel into
print to be acknowledged at once as a new light in literature. You can never convince a young
author that the editors of magazines and the publishers of books are a practical body of men, who
are by no means frantically anxious about placing the best literature before the public. Nay, that
for the most part they are mere brokers who conduct their business on the hardest lines of a Profit
and Loss account. But supposing your book fairly launches, its perils are only beginning. You have
to run the gauntlet of the critics.

A time comes in the life of every author when he regards critics as comical rather than
formidable, and goes his way unheeding. But there are sensitive souls that yield under the
chastisement and, perhaps after suffering much silent torture, abandon the profession of the pen
for ever. Keats, perhaps, is the saddest example of a fine spirit hounded to death by savage criticism;
because, whatever his biographers may aver, that furious attack of Gifford and Terry undoubtedly
expedited his death. But no doubt there are hundreds who suffer keenly hostile and unscrupulous
criticism, and who have to bear that suffering in silence, because it is a cardinal principle in literature
that the most unwise thing in the world for an author is to take public notice of criticism in the way
of defending himself. Silence is the only safeguard, as it is the only dignified protest against insult
and offence.

What are the ambitions of a young author ?
(1) to find large scale readership

(2) to have good reviews from critics

(3) to get immediate fame as a writer

(4) All of the above

Options :

54025056893. 1
54025056894. 2
54025056895. 3
54025056896. 4

Question Number : 15 Question Id : 54025014225 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Read the following passage, and answer the next five questions by choosing the correct
options :

Ungquestionably a literary life is for the most part an unhappy life; because, if you have
genius, you must suffer the penalty of genius; and, if you have only talent, there are so many cares
and worries incidental to the circumstances of men of letters, as to make life exceedingly miserable.
Besides the pangs of composition, and the continuous disappointment which a true artist feels at
his inability to reveal himself, there is the ever-recurring difficulty of gaining the public ear. Young
writers are buoyed up by the hope and the belief that they have only to throw that poem at the
world’s feet to get back in return the laurel-crown; that they have only to push that novel into
print to be acknowledged at once as a new light in literature. You can never convince a young
author that the editors of magazines and the publishers of books are a practical body of men, who
are by no means frantically anxious about placing the best literature before the public. Nay, that
for the most part they are mere brokers who conduct their business on the hardest lines of a Profit
and Loss account. But supposing your book fairly launches, its perils are only beginning. You have
to run the gauntlet of the critics.

A time comes in the life of every author when he regards critics as comical rather than
formidable, and goes his way unheeding. But there are sensitive souls that yield under the
chastisement and, perhaps after suffering much silent torture, abandon the profession of the pen
for ever. Keats, perhaps, is the saddest example of a fine spirit hounded to death by savage criticism;
because, whatever his biographers may aver, that furious attack of Gifford and Terry undoubtedly
expedited his death. But no doubt there are hundreds who suffer keenly hostile and unscrupulous
criticism, and who have to bear that suffering in silence, because it is a cardinal principle in literature
that the most unwise thing in the world for an author is to take public notice of criticism in the way
of defending himself. Silence is the only safeguard, as it is the only dignified protest against insult
and offence.

Which English poet does the author talk about who was hounded to death by savage criticism ?
(1) Crifford
(2) Keats
(3) Yeats
(4) Terry
Options :
54025056897. 1
54025056898. 2

54025056899. 3
54025056900. 4
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Change the following sentence into active voice by choosing the correct option.
All his calculations have been proved wrong.

(1) It has proved all his calculations wrong.

(2) They have proved all his calculations wrong.

(3) We have proved all his calculations wrong.

(4) All his calculations were proved wrong.

Options :
54025056901. 1
54025056902. 2



54025056903. 3
54025056904. 4

Question Number : 17 Question Id : 54025014227 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Select the appropriate option to convert the following into active voice.
“Why was such a letter written by your brother ?”

(1)  Why has such letter been written by your brother ?

(2) Why did your brother wrote such a letter ?

(3) Why did your brother write such a letter ?

(4) Why was such a letter being written by your brother ?

Options :

54025056905. 1
54025056906. 2
54025056907. 3
54025056908. 4

Question Number : 18 Question Id : 54025014228 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension MCQ

Choose the option to correctly change the following from direct to indirect speech.
“Are you free tomorrow ?” She said to me.

(1)  She told me are you free tomorrow.

(2) She asked me if I was free tomorrow.

(3) She asked me if | was free the next day.

(4) She ordered and asked if [ was free tomorrow.

Options :

54025056909. 1
54025056910. 2
54025056911. 3
54025056912. 4

Question Number : 19 Question Id : 54025014229 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Select the appropriate option as the conversion for the following statement into indirect speech.
- Fiona said, “It's getting late” -

(1) Fiona said it meant to be late.

(2) Fiona said it had been late.

(3) Fiona said it has been getting late.

(4) Fiona said that it was getting late.

Options :

54025056913. 1
54025056914. 2
54025056915. 3
54025056916. 4
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Match List - I with List - II to complete the sentences in the table.
List - I List - II
(A) Our Principal () can face the land mafia
(B) Only a dare devil (I)  to be fair and square in business
(C) My father advised me (I) died in harness
(D) Due to sheer negligence (IV) you have got yourself into a mess

Choose the correct answer from the options given below :

(1) (A1), (B)-(ID), (O)-IV), (D)-(I0)
I

(2) (A)(II)()( , (O-1V), (D)-(0)
(3) (A)-(IID), (B)-(I), (O-(1I), (D)-(IV)
(4)  (A)-(D), (B)-(IV), (C)-(D), (D)~(III)
Options :

54025056917. 1
54025056918. 2
54025056919. 3
54025056920. 4

Question Number : 21 Question Id : 54025014231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Match List - I with List - II to make a meaningful sentence.

List - I List - IT
(A) Some speakers merely (I)  brought to book for his negligence
(B) The manager was (II) by dint of hard work
(C) Sheela achieved success (III) Dbear the brunt of inflation
(D) The poor have to (IV) beat the air in their speech while preaching

Choose the correct answer from the options given below :
(1) (A)-(1I), (B)-(II), (O)-(I), (D)-(IV)

(2) (A)()()( V), (©)-(1I), (D)-@)
(3) (A)-(D), (B)-(II), (O-(IV), (D)-(IL)
(4)  (A)- (IV) (B)~(I), (C)-(1I), (D)-(1I)

Options :

54025056921. 1
54025056922. 2
54025056923. 3
54025056924. 4
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Choose the correct option for the meaning of the foreign word - “RENDEZVOUS”
(1) religious place

(2) exaggerated

(3) secret meeting place

(4) private hotel

Options :

54025056925. 1
54025056926. 2
54025056927. 3
54025056928. 4

Question Number : 23 Question Id : 54025014233 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Fill in the blank with a suitable foreign word.
he would appear to be guilty.

(1) Prima Face
(2) Prima Facie
(3) Pro bono
(4) Sotto voce
Options :
54025056929. 1

54025056930. 2
54025056931. 3
54025056932. 4

Question Number : 24 Question Id : 54025014234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Find the correct meaning for the underlined Idiom.

The proposal was rejected with one voice.

(A) unanimously

(B) unconsciously

(C) shouted

(D) with lot of noise

Choose the correct answer from the options given below :
(1) (B) Only

(2) (© Onl}’
(3) (D) Onl

4) (4) ODIY
Options :
54025056933. 1
54025056934. 2

54025056935. 3
54025056936. 4
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Which among the following pair of words carry the same relationship as:
Cheerful : Merry

(1) Reveal : Hide

(2) Spontaneous : Premeditated

(3) Shrewd : Simple

(4) Decay : Deteriorate

Options :

54025056937. 1

54025056938. 2

54025056939. 3
54025056940. 4
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Fill in the blank with a suitable determiner.
The class will be divided into three sections and section will contain 20 students.
(1) each
(2) every
(3) both
(4) All of the above
Options :

54025056941. 1
54025056942. 2
54025056943. 3
54025056944. 4
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Choose the correct form of the article which needs to the inserted in the sentence given below:

The Sun did not rise tll six in morning.
(1) a

(2) an

(3) the

(4) no article

Options :

54025056945. 1
54025056946. 2
54025056947. 3
540250569438. 4
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Choose the correct exclamatory form of the following sentence from the options given below :
The students are excited to go for the excursion.

(1) How excited the students are to go on an excursion !
(2) Alas, the students are eager to go for the excursion !
(3) How the students were excited for the excursion !

(4) Kudos to the students excited to go for the excursion !

Options :

54025056949. 1
54025056950. 2
54025056951. 3
54025056952. 4

Question Number : 29 Question Id : 54025014239 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Comprehension MCQ

Choose the correct exclamatory sentence for the following sentence :
It is a matter of regret that your grandfather has passed away.

(1) It is a regrettable that your grandfather has passed away !
(2) Oh! We lost your grandfather !

(3) How regretful are we to lose your grandfather !

(4) Alas! You have lost your grandfather !

Options :

54025056953. 1
54025056954. 2
54025056955. 3
54025056956. 4
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Use suitable prepositions in the following sentence.

“The exercise was written me a Parker pen.”
(1) by, through

(2) for, by

(3) for, from

(4) by, with

Options :

54025056957. 1
54025056958. 2
54025056959. 3
54025056960. 4
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Choose a suitable preposition to fill in the blank :

Hereafter Raju is disqualified holding any government post.
(1) from

(2) against

(3) with

(4) by
Options :

54025056961. 1
54025056962. 2
54025056963. 3
54025056964. 4
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Fill in the blank with the suitable option from the list below :
“You stood by your brother.”

(1) should have
(2) may have
(3) shall have
(4) might have

Options :

54025056965. 1
54025056966. 2
54025056967. 3
54025056968. 4

Question Number : 33 Question Id : 54025014243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Choose the correct modal to fill in the blank, in the sentence given below :

When I was in college I play cricket.
(1) may

(2) used to

(3) must

(4) dare to
Options :

54025056969. 1
54025056970. 2
54025056971. 3
54025056972. 4

Question Number : 34 Question Id : 54025014244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Choose the right word as the substitute for “A place where birds are kept.” :
(1) Aviary
(2) House
(3) Apiary
(4) Aquarium
Options :
54025056973. 1
54025056974. 2

54025056975. 3
54025056976. 4

Question Number : 35 Question Id : 54025014245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Choose the one word substitute for “Fluent and clear in speech” :
(1) Emotional

(2) Enthusiastic

(3) Articulate

(4) Confident

Options :

54025056977. 1
54025056978. 2
54025056979. 3
54025056980. 4

Question Number : 36 Question Id : 54025014246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Choose the part of the sentence which has an error -
A) The Japanese

B) become very exciting

D) but the trends only last a short while

(
(
(C) about new fashion ideas
(
(E) No error

Choose the correct answer from the options given below :

(1) (A) Only

(2)  (B) Only

(3) (© Only

(4) (D) Only
Options :

54025056981. 1
54025056982. 2
54025056983. 3
54025056984. 4
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Pick the incorrect part in the given sentence.

The blessings that the habit of reading confers/on their possessor/are many provided we/choose
the right kind of books.

(1) The blessings that the habit of reading confers
(2) on their possessor

(3) are many provided we

(4) choose the right kind of books

Options :

54025056985. 1
54025056986. 2
54025056987. 3
54025056988. 4

Question Number : 38 Question Id : 54025014248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Match the phrases in List - I with their meanings in List - II.

List - I List - I
(Phrases) (Meaning)
(A) Break into () in search of
(B) Cut down () wear
(C) Look out for (IIT)  enter by force
(D) Puton (IV) reduce

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(W) (©)-(1D), (D)-(II)

(2) (A)-(1D), (B)-(IV), (O)-), (D)-(II)

(3)  (A)-(ID), ( )-(I1), (©)-(D), (D)-(1V)

(4) (A)-(AV), (B)-(D), (C)-(I), (D)-(1I)

Options :

54025056989. 1

54025056990. 2

54025056991. 3
54025056992. 4
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Replace the underlined word with a suitable option.
It is typical of the elite class to despise the poor.

(1) look over

(2) look down upon

(3) lookup to

(4) look away

Options :

54025056993. 1
54025056994. 2
54025056995. 3
54025056996. 4



Question Number : 40 Question Id : 54025014250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Match the homonyms in List - I with their meanings in List - IL

List - I List - I
(Homonyms) (Meaning)
(A) Birth () aseatin a train
(B) Berth (I) a kind of corn
(C) Maze (IIT) to be born

(D) Maize (IV) winding paths
Choose the correct answer from the options given below :
(1) (A)-D (B)-(IV), (O-(III), (D)-(II)

(2) (A)-1D), B)-1), ©)-O), (D)-IV
(3)  (A)-(), (B)-D), (O)-1V), (D)-(II
(4)  (A)-I), B)-(IV), (O-1), (D)~

Options :

54025056997. 1
54025056998. 2
54025056999. 3
54025057000. 4
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Rearrange the following to construct a meaningful sentence.
(A) to reduce the incidence of crime involving property
(B) in conclusion

(C) we must search for ways

(D) as well as offence against people

Choose the correct answer from the options given below :
(1) (O, (B), (A), (D)

(2) (D), (©), (A), (B)

(3) (B) (©), (A), (D)

(4) (A), (B), (D), (©)

Options :

54025057001. 1

54025057002 2

54025057003 3

54025057004. 4
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Match the words in List - [ with their Antonyms in List - II.

List - I List - I
(A) burn () complimentary
(B) derogatory (I) douse
(C) abundance (IIT) release
(D) detain (IV) limited

Choose the correct answer from the options given below :
(1) (A)-D), (B)-(IL), (O, (D}-(IV)

(2) (A)-I), (B)-(IV), (O)-I), (D)-(I)
(3)  (A)-(D), (B)-(III), (C)-(ID), (D)-(IV)
(4)  (A)-(1), B)-{1), (O-1V), (D))

Options :

54025057005. 1
54025057006. 2
54025057007. 3
54025057008. 4
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(1) Increase

(2) Supplement
(3) Deduction
(4) Corollary

Options :

54025057009. 1
54025057010. 2
54025057011. 3
54025057012. 4
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Fill in the blank with an appropriate adverb.
he is a good winner but I have never watched him win a race.

(1) Luckily
(2) Doubtedly
(3) Fortunately

(4) Apparently

Options :

54025057013. 1
54025057014. 2
54025057015. 3
54025057016. 4
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Fill in the blank with a suitable adverb :

iy , he thinks too high of himself.”
(1) slyly

(2) unfortunately

(3) recently

(4) credibly

Options :

54025057017. 1
54025057018.2
54025057019. 3
54025057020. 4
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Add a suitable question tag to the following sentence from the options given below :
Mohit lives in the city.

(1) Did he?

(2) Does he?

(3) Will he?

(4) Doesn’'t he ?

Options :

54025057021. 1
54025057022. 2
54025057023. 3
54025057024. 4
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Complete the following sentence by choosing the correct option :
I am tired as since 7 o'clock in the morning.

(1) I have been working

(2) working

(3) I had been working

(4) I will be working

Options :

54025057025. 1
54025057026. 2
54025057027. 3
54025057028. 4
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Choose the sentence where the idiom has been incorrectly used.
(1) Please hear me out.

(2) The officers agreed to carry out the orders.

(3) She kept out talking,

(4) Ilook after my parents.

Options :

54025057029. 1
54025057030. 2
54025057031. 3
54025057032. 4

Question Number : 49 Question Id : 54025014259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Mark the correct meaning of the underlined idiom in the following sentence.
“He is as hard as a nail, never moved by anything..”

(1) tough to deal with

(2) unsympathetic
(

3) physically strong
(4) hard working

Options :

54025057033. 1
54025057034. 2
54025057035. 3
54025057036. 4
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Comprehension MCQ

Match the sentence in List - I with the clause used in it in List - II.

List - I List - 11
(A) The boy who came here is my brother. () Noun clause
(B) I want to know who came here. (II)  Adjective clause
(C) I had left the room when my mother (1) Adverb clause

came to meet me.
(D) Please tell me who came to meet me. (IV) Noun clause

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(II) (C)-(IH) (D)-(1V)
) (

(2)  (A)-D), (B)-(I), (O)-(IV), (D)-(II)
(3)  (A)-(1D), (B)-(I1D), (O)- () ( )-(IV)
(4)  (A)-(D), (B)-(I), (O)-(ID), (D)-(IV)
Options :

54025057037. 1
54025057038. 2
54025057039. 3
54025057040. 4

Biology



Group Number : 2

Group Id : 540250264

Group Maximum Duration : 45

Group Minimum Duration : 45

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 200

Is this Group for Examiner? : No

Examiner permission : Cant View

Show Progress Bar? : No
Biology

Section Id : 540250320

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 50

Number of Questions to be attempted : 40

Section Marks : 200

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 540250885

Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 54025014161 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

In angiosperms, the outer wall of ovary develops into :

(1) Perisperm
(2) Pericarp
(3) Periderm

(4) Sporoderm

Options :

54025056641. 1
54025056642. 2
54025056643. 3
54025056644. 4

Question Number : 51 Question Id : 54025014161 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

T Siifsrdl | srveeE it ared fish faesfad S & ¢
(1) e d
(2) Ul H
(3) UdeH
(4) wREHH
Options :
54025056641. 1
54025056642. 2

54025056643. 3
54025056644. 4



Question Number : 52 Question Id : 54025014162 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
Match List - I with List - IL

List -1 List - II

(A) Buds I)  Chlamydomonas
(B) Conidia II) Sponge

(C) Gemmules II) Hydra
(

D) Zoospores (IV)  Penicillium

— p— g—
e

Choose the correct answer from the options given below :
1 (A)- (IV) (B) (IH) (C) (1), (D)-[0)

(2)  (A)-D. (B)-(III), (O-(1V), (D)-(I
(3) (A)(HI (B)-(I )()()()(I
(4) (A)-(IID, (B)() (©-(1), (D)}-(IV

Options :

54025056645. 1
54025056646. 2
54025056647. 3
54025056648. 4

D)
)
)

Question Number : 52 Question Id : 54025014162 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Tell-1 % |1e GAI-11 1 A Hifg
i1 Tell-11

(A) hfcrehTd (

(B) hifafean (1) s

(C) S (

(D) SEE (V) YfEiferrg

e feu T fashedi H | W& W 1 994 FifT :

1) (A0 ) ( )(HI) (C)~(H) (D)-(I)
(2)  (A)-D), (B)y-(ID), (C-AV), (D)-(II)
(3) (A)- (HI (B)-(1 ) (©-1), (D)-{)
(4) (A, (B)-(D), (O-(1D), (D)-(IV)
Options :

54025056645. 1
54025056646. 2
54025056647. 3
54025056648. 4

Question Number : 53 Question Id : 54025014163 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Identify the set of cells which have haploid number of chromosomes ?
(1) Egg cell and Synergid cell

(2) Egg cell and Nucellar cell

(3) Zygote and Egg cell

(4) Zygote and Antipodal cell

Options :

54025056649. 1
54025056650. 2
54025056651. 3
54025056652. 4

Question Number : 53 Question Id : 54025014163 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

I IR F HH= ol TE=H hitee S8 i [ors e Bl § -
(1) e FiferR ik T IR

(2) 31 IR IR SlSTiSHE IR

(3) ISt iR 3fe FfvrEm

(4) Irost IR wftendrd iR

Options :

54025056649. 1
54025056650. 2
54025056651. 3
54025056652. 4

Question Number : 54 Question Id : 54025014164 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

In Vallisneria, the pollination is carried by :

(1) Wind
(2) Water
(3) Insects
(4) Animals
Options :
54025056653. 1

54025056654. 2
54025056655. 3
54025056656. 4

Question Number : 54 Question Id : 54025014164 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




dfergafiar & 9T g ® -

(1) <=3 ER

(2) @ EW

(3) hIZ BN

(4) =3l gW
Options :

54025056653. 1
54025056654. 2
54025056655. 3
54025056656. 4

Question Number : 55 Question Id : 54025014165 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Leydig cells secrete :

(1) Gonadotropin Releasing Hormone (GnRH)
(2) Follicle Stimulating Hormone (FSH)

(3) Androgens

(4) Estrogen

Options :

54025056657 1
54025056658. 2
54025056659. 3
54025056660. 4

Question Number : 55 Question Id : 54025014165 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

e IfSrerrd (siauet hifdre) wnfad wd € -
(1) THEfuE feifsn gmE (GnRH)

(2) ifeTehat WAt gmE (FSH)

(3) TE

(4) TESH

Options :

54025056657 1
54025056658. 2
54025056659. 3
54025056660. 4

Question Number : 56 Question Id : 54025014166 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




Arrange the following in correct sequence with respect to the events of menstrual cycle :
(A) Development of primary follicle to graafian follicle

(B) Attainment of peak level in luteinising hormone

(C) Release of ovum by graafian follicle

(D) Formation of corpus luteum

Choose the correct answer from the options given below :

1) (A) B), (D), (O

(2)  (B). (D), (A) (©)
(3) (A) (O, (D). (B)
(4) (A) (B), (O), (D)
Options :

54025056661. 1
54025056662. 2
54025056663. 3
54025056664. 4

Question Number : 56 Question Id : 54025014166 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

e 9eh o Hey # freafafea =woil o 9@ s H srafted wifaw
(A) Wi g2 1 UTH 2 H o™

(B) wfeArRfS g S9N oI TR WX gl §

(C) UIHI Y2 9 S &l °raq

(D) ra fu =1 s

= feu U faskedi § | WE W F T R

(1) (A), (B), (D), (O)

(2) (B), (D), (A) (O
3) (A) (©), (D), (B)
(4) (A) (B), (O, (D)
Options :

54025056661. 1
54025056662. 2
54025056663. 3
54025056664. 4

Question Number : 57 Question Id : 54025014167 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The following are the natural methods of contraception except :
(1) Lactational amenorrhea

(2) Coitus interruptus

(3) Intra Uterine Devices (IUD)

(4) Periodic Abstinence

Options :

54025056665. 1
54025056666. 2
54025056667. 3



54025056668. 4

Question Number : 57 Question Id : 54025014167 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
& sifafiea 3 ot mifR <t werfas fafimr €
(1) SEYH 3HEE
(2) ofafta deq
(3) & v g
(4) SAafuesR Had
Options :

54025056665. 1
54025056666. 2
54025056667. 3
54025056668. 4

Question Number : 58 Question Id : 54025014168 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Match List - I with List - IL

List - I List - II

(A) ZIFT () Transfer of an ovum from a donor into the fallopian tube of another
female,

(B) GIFT (II)  Semen collection from husband /healthy donor is artificially introduced
into the uterus of the female

(C) TUT (IIT) Transfer of zygote or embryo of upto 8 blastomeres into fallopian tube

(D) 1IUI (IV) Transfer of embryo with more than 8 blastomeres into uterus

Choose the correct answer from the options given below :
(1) (A)~(IH) (B)~( , (O-IV), (D)-0)
(2)  (A)-D), (B)-I0), (O, (D)-IV)
(3) (&) (HI) (B)-(D), (©)-(1V), (D)-(I)
(4)  (A)-V), (B)-(I), (O)-dI), (D)-[@)

Options :

54025056669. 1
54025056670. 2
54025056671. 3
54025056672. 4

Question Number : 58 Question Id : 54025014168 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ




Tell-1 & 919 GEI-11 1 fie s
i1 GEfl-11

(A) ZIFT () & e o, gEl AT S el Tferent | wrHia

(B) GIFT (1) Ty Tavafd | o aet wtm fafy | w6 1aiea § gaw s
(C) I (III) TFHAS HAUST 8 SARLIHIA o YOI 1 THeardt Afcreh] H T

(D) 1IUI (IV) 8 =ARIad 9 3AfeeR el Yol o1 199 § =

= feu mu ﬁ'aﬁcﬁ Ei z?r T ST H1 T FifIC ;

(1) (A)-(T), ) (O-(V), (D)-(D)

(2)  (A)-(D, (B ( ) (©)-(I), (D)-(IV)

(3)  (A)-(1D), (B)-(I), (O)-(1V), (D)-(I)

(4)  (A)-(V), (B)-(I), (O)-), (D)-(I)

Options :

54025056669. 1
54025056670. 2
54025056671. 3
54025056672. 4

Question Number : 59 Question Id : 54025014169 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Thalassaemia is a :

(1) Bone disease

(2) Blood disease

(3) Eye disease

(4) Respiratory disease

Options :

54025056673. 1
54025056674. 2
54025056675. 3
54025056676. 4

Question Number : 59 Question Id : 54025014169 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Sergifoa % LLE
(1)  sfer 3w
(2) T Haet
(3) M
(4)  TIEA T
Options :

54025056673 1
54025056674. 2
54025056675. 3
54025056676. 4

Question Number : 60 Question Id : 54025014170 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

ABO blood group is an example of :
(1) Single allele
(2) Multiple alleles
(3) Single gene
(4) Two genes
Options :
54025056677. 1
54025056678. 2

54025056679. 3
54025056680. 4

Question Number : 60 Question Id : 54025014170 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
ABO & HYg Ueh e ¢
(1) THA cllel
(2) =g Actial =l
(3) A SF H
(4) < SH
Options :

54025056677. 1
54025056678. 2
54025056679. 3
54025056680. 4

Question Number : 61 Question Id : 54025014171 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
Match List - I with List - I
List - 1 List - II
(A) Down's syndrome () 44 +XX/XY
(B) Klinefelter’s syndrome (I) 44+XO
(C) Turner's syndrome (II) 44+ XXY
(D) Normal human (IV) 45+XX/XY

Choose the correct answer from the options given below :
(1) (A)-D), (B)-L), (O, (D)-(1V)

(2) (A)()()()()(IH)()(
(3)  (A)-(V), (B)(IID), (O)-(I), (D)-(L
(4) (A)-(D), ( )-1), ©)-(1v), (D)-0

Options :

54025056681. 1
54025056682. 2
54025056683. 3
54025056684 4

)
)
)



Question Number : 61 Question Id : 54025014171 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Gelt-1 o |19 Get-11 1 e ey
-1 -1

() 44 +XX/XY
B) FETHeel fHEm (II) 44+ XO

i (II) 44 + XXY
HHEH AR (IV) 45+ XX/XY
feu u fasredi § | e ST 1 =TI HIFGT

ot

(1) (A0, B )(HI) (©)-(1), (D)-(IV)
(2) (A, ( ) ). (O)-(UI), (D)-(I)
3)  (A)-IV), (HI) (©)-(), (D)-(I)
(4)  (A)-(D), ( )-(I0), (O)-AV), (D))
Options :

54025056681. 1
54025056682. 2
54025056683. 3
54025056684. 4

Question Number : 62 Question Id : 54025014172 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

A DNA fragment contains 18% Thymine(T). The combined content of Cytosine (C) and Guanine
(G) in it would be :

(1) 36%
2) 18%
(3) 64%
(4) 32%
Options :

54025056685. 1
54025056686. 2
54025056687. 3
54025056688. 4

Question Number : 62 Question Id : 54025014172 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
T € T T Eve H 18% oefiA (T) ¥ 1 39 Wi (C) R TafH (G) i §ge T B
(1) 36%
(2) 18%
(3) 64%
4) 32%
Options :

54025056685. 1
54025056686. 2



54025056687. 3
54025056688. 4

Question Number : 63 Question Id : 54025014173 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

If an E.coli with heavy DNA (N'®) is put in a medium with NH,CI[N!4] then, what type of DNA
will be obtained after two generations/replications ?
(1) NM¥NM type
(2) N4 N1 gnd N4 N4 type
(3) NM N and N NP type
(4) N ND and N N™ type
Options :
54025056689. 1
54025056690. 2

54025056691. 3
54025056692. 4

Question Number : 63 Question Id : 54025014173 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ
T 9 S T T (ND) et & lors shl Jmr UNH,CL(N1) 3ol Jred H 2re 101 1 &) difedl/afaah o
& UvH DNA foh% wer =1 g 2

(1) NN yge&R =

(2) N NI SR N4 N1 gea6r 1

(3) NN 3R N15 N5 g&R w1
(4) N5 NI SR N4 N1 gehr 1

Options :

54025056689. 1

54025056690. 2

54025056691. 3
54025056692. 4

Question Number : 64 Question Id : 54025014174 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

Identify the statements which are not true with respect to Heterochromatin.
(A) Loosely packed

(B) Densely packed
(C) Stains light
(D) Transcriptionally active

Choose the correct answer from the options given below :
(1) (A), (B), and (D) only

(2) (A), (C), and (D) only
(3) (A), (B), (C) and (D) only
(4) (C), and (D) only



Options :

54025056693. 1
54025056694. 2
54025056695. 3
54025056696. 4

Question Number : 64 Question Id : 54025014174 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

SERISHIHIET o o) § T FHH| 1 TgdH SISy -
A) BT Toheg

(
(B) = Ukvs
(
(

—

C) ek sffsE

D) 3SieiEd | Hiha

13 frw T foshedi H A TR TR F1 TE R ;
(1) = (A), (B) 3R (D)

(2) A (A), (C) 3R (D)

(3) (A), (B), (C) ¥R (D)

(4) Fad (C) ¥R (D)

Options :

54025056693. 1
54025056694. 2
54025056695. 3
54025056696. 4

Question Number : 65 Question Id : 54025014175 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Fossils are generally found in :

(1) Igneous and Metamorphic rocks
(2) Sedimentary rocks

(3) Metamorphic rocks

(4) Sedimentary and Igneous rocks

Options :

54025056697 1
54025056698. 2
54025056699. 3
54025056700. 4

Question Number : 65 Question Id : 54025014175 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




STTeTeH, HHFIE: 70 ST § ¢

(1) S AR HEARd 922H |
(2) FEEE =@ §

(3) wmidRd =22 |

(4) STEEE SR S =2E

Options :

54025056697. 1
54025056698. 2
54025056699. 3
54025056700. 4

Question Number : 66 Question Id : 54025014176 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Identify the example of Australian Marsupial from the following :
(1) Flying squirrel

(2) Flying phalanger

(3) Bobcat

(4) Mole

Options :

54025056701. 1
54025056702. 2
54025056703. 3
54025056704. 4

Question Number : 66 Question Id : 54025014176 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

frfafeas § 9 smefand forgert & S it Te=m Hifs
(1) s il

(2) SST-THel=H

(3) dEhe

(4) BYX

Options :

54025056701. 1
54025056702. 2
54025056703. 3
54025056704. 4

Question Number : 67 Question Id : 54025014177 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which is not an example of convergent evolution ?
(1) Eye of an octopus and eye of man

(2) Sweet potato and Potato

(3) Thorns of Bougainvillea and tendrils of Cucurbita
(4) Wings of butterfly and wings of an Eagle

Options :

54025056705. 1
54025056706. 2
54025056707. 3
54025056708. 4

Question Number : 67 Question Id : 54025014177 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

=N § - Al faera @ Semete e € 2

(1) Sfi=R9d i sfia 3R 974 i i

(2) WEEH< 3 3T

(3) armHfaferar iR Fefaer & FH: S 3R TaH
(4) fodelt & 9@ IR <ia & 1@

Options :

54025056705. 1
54025056706. 2
54025056707. 3
54025056708. 4

Question Number : 68 Question Id : 54025014178 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Heroin, commonly called as smack is a/an :
(1) Cannabinoid

(2) Opioid
(3) Phylloid
(4) Metalloid

Options :

54025056709. 1
54025056710. 2
54025056711. 3
54025056712. 4

Question Number : 68 Question Id : 54025014178 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




fatie, f59 9= &9 § & el Sl 8, T 7l
(1) FafeAreey
(2) sifusized
(3) fwalzgd
(4) Teafzem
Options :
54025056709. 1
54025056710. 2

54025056711. 3
54025056712. 4

Question Number : 69 Question Id : 54025014179 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Identify the statements which hold true for cancer .
(A) Cancerous cells do not show contact inhibition

(B) Chemotherapeutic drugs are used to kill cancerous cells
(C) Benign tumors can reach distant sites through blood
(D) Non-ionising radiations can also cause cancer

Choose the correct answer from the options given below :
(1) (A), (B), and (D) only

(2) (A), (B), and (C) only

(3) (A), (B), (©) and (D) only
(4) (B), (C) and (D) only
Options :

54025056713. 1
54025056714. 2
54025056715. 3
54025056716. 4

Question Number : 69 Question Id : 54025014179 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
FHER o AU A FoAl I TEEE HifT -

(A) FHE it weaet daue o o gefdid e wedt

(B) TeEfafmeia sifemat S el @ ory ¥ w3 w6 $
(C) HTH 37T & & g gl ®F| d Ugd Hahd §

(D) 3R faferton off SR 1 R0 & g §

== feu U fashedi # 9 WE W F1 999 Hif9T

(1) ad (A), (B) 3R (D)

(2) 9 (A), (B) 3 (Q)

(3) (A), (B) () ¥R (D)

(4) I (B), (C) R (D)

Options :



54025056713. 1
54025056714. 2
54025056715. 3
54025056716. 4

Question Number : 70 Question Id : 54025014180 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
Match List - I with List - IL

List - I List - II

(A) Pneumonia (
(B) Typhoid (
(C) Filariasis (
(D) Amoebiasis (IV)  Salmonella typhi

I)  Wiuchereria bancrofti
II)  Streptococcus pneumntoniae
IIT) Entamoeba histolytica

Choose the correct answer from the options given below :
(1) (A)-1D), B)-(1), ©)-1V), (D)-[I)

(2) (A)()()()( -(II), (D)-(I
(3) (A, (B)-(IV), (O)-1), (D)
(4)  (A)- (H)f( )-IV), (©)-(D), (D)-(IIL

Options :

54025056717. 1
54025056718. 2
54025056719. 3
54025056720. 4

)
)
)

Question Number : 70 Question Id : 54025014180 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Tell-1 % |1 GAI-11 1 e Hifs

3 gelt-11
(A) =gHifEr O)  FRAE dwreer
(B) <CEWIEE 1) TEFFHT FHTIE
(C) wrEaRufad (Il) Tes7ian fReeiciiast
(D) StHTe (IV)  GreHHeT 28!

(1) (A) (ID), (B)-(IL), (©)-(1V), (D)-([0)
(2)  (A)-(ID), ( ) (IV), (C)-(III), (D)-(D)
(3) (A1), (B)-(IV), (O-(1), (D)-[0)
(4)  (A)-ID), ( ) (IV), (©)-(D), (D)-(II)
Options :

54025056717. 1
54025056718. 2
54025056719. 3
54025056720. 4

Question Number : 71 Question Id : 54025014181 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ

Saccharum barberi was originally grown in :
(1) North America

(2) North India

(3) South America

(4) South India

Options :

54025056721. 1
540250567222
54025056723. 3
54025056724. 4

Question Number : 71 Question Id : 54025014181 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

G Se] qotd: U TR ST o
(1) 3o seiem |

(2) I 9Ra H

(3) feoit stadten H

(4) <ferit wra 4

Options :

54025056721. 1
54025056722.2
54025056723. 3
54025056724. 4

Question Number : 72 Question Id : 54025014182 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Identify the statements which hold true for apiculture .

(A) Apis dorsata is the most common honey bee species used for apiculture

(B) Honey is the food of high nutritive value and finds use in indigenous system of medicine
(C) Bee keeping is not labour intensive

(D) Honeybees also produce beewax

Choose the correct answer from the options given below :

(1) (A), (B), and (D) only

(2) (A), (B), and (C) only

(3) (A), (B), (C) and (D) only

(4)  (B), (C) and (D) only

Options :

54025056725. 1
54025056726. 2
54025056727. 3
54025056728. 4

— —

Question Number : 72 Question Id : 54025014182 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1



Question Key Details :

Key 'Value

Comprehension MCQ

TfteheR (HF Ter) 3 foe T el 9 TeeE HifT -

(A) TfushcaX & fou gERT 1 STH dTel] Jord | gsitd oy SR 2 |

(B) VER I YWY HEed ol Ush STRR © Sl WU bl <3if yomedt H§ w4 e © |
TYTE! T H AT g1 1 SR TE el |
ARl 7 off o1 et €

=1 feu Tu fasmedi § 9 W@ W F1 =977 HIfC

(1) ad (A), (B) 3T (D)

(2) %A@ (A), (B) 3 (Q)

(3) (A), (), () 3R (D)

(4) Fd (B), (C) 3R (D)

Options :

54025056725. 1

54025056726. 2

54025056727. 3
54025056728. 4

Question Number : 73 Question Id : 54025014183 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
Match List - I with List - IL.
List -1 List - 11
(Animal breeding) (Type)
A) Crossing tall F, progeny with recessive parent to I Cross-breedin:
g o progeny p g

determine its genotype

(B) Breeding within the same breed with no (II) Inter-specific hybridization
common ancestor

(©) Breeding of superior male of one breed with (IT) Test-crossing
the superior female of another breed

(D) Breeding of animals of two different but related species (IV) Out-crossing

Choose the correct answer from the options given below :

(1 (A1), (B)-(1), (O)-(1D), (D)-(IV)

(2)  (A)-(D), (B)-1), (O-(1), (D)-(IV)
(3)  (A)-(), (B)-(II), (O)-(IV), (D)~(IM)
(4) (A1), (B)-(1V), (O)-(), (D)-(I)
Options :

54025056729. 1
54025056730. 2
54025056731. 3
54025056732. 4

Question Number : 73 Question Id : 54025014183 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




-1 % |19 gei-11 1 e ifse

qﬁ.l -11
(TRTUTET) (FhT)

(A) THO UGl F, sl ol Hefd 1 STA9E] S o |19, 1) HehLol
THH SAREY Fd X o fau ahior U
(B) Tk & i & foe1 A ga At qged &% Hem (1) sfa: fafire o
HECIGIR SR
(C) ek 1 & %2 T I GHI %1 I 48 061 & &= 9q ([0) wdaned deeo
(D) &1 fom oy Frehee 951 & qgel & &= geiH (IV) ofE: HHTor

= fou o fawmedi ° 9 9E ST H1 F999 Hif
(1)  (A)-(D), (B)-(II), (O)-(11L), (D)-(IV)

(2) (A1), (B)-@), (O-(1L), (D)-(IV)
(3) (A)-1), (B )( ) (O)-(1 ) ( )(IH)
(4) (A)-(II) V), (©)-1), (D)-(I0)
Options :

54025056729. 1

54025056730. 2

54025056731. 3
54025056732. 4

Question Number : 74 Question Id : 54025014184 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Which of the following microbes is not used as a biocontrol agent ?
(1)  Lactobacillus

(2)  Bacillus thuringiensis

(3) Trichoderma

(4)  Nucleopolyhedrovirus

Options :

54025056733. 1
54025056734.2
54025056735. 3
54025056736. 4

Question Number : 74 Question Id : 54025014184 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

frefafea § @ SF-1 garsia S/a [0 &R J 5E0r @ e ?
(1) cFerergiery

(2) FGierg YRAfsaray

(3) gEEeH!

(4) lFTFIdicizeraray

Options :
54025056733. 1
54025056734.2



54025056735. 3
54025056736. 4

Question Number : 75 Question Id : 54025014185 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following organism helps the plants in the absorption of phosphorus from soil ?
(1) Anabaena

(2) Nostoc

(3) Glomus

(4)  Oscillatoria

Options :

54025056737. 1
54025056738. 2
54025056739. 3
54025056740. 4

Question Number : 75 Question Id : 54025014185 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

freferfiad § 9 ®FA-91 Sfia Uy % fau g1 § ®EhRg & a9y § GeEdal 3 ¢ 2

Options :

54025056737. 1
54025056738.2
54025056739. 3
54025056740. 4

Question Number : 76 Question Id : 54025014186 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Arrange the steps of biological sewage treatment process in a sequence.

(A) Vigorous growth of flocs and significant reduction in BOD

(B) Activated sludge pumped into anaerobic sludge digester

(C) Effluent passed into an aeration tank and agitated mechanically

(D) Effluent transfer to settling tank followed by sedimentation of bacterial flocs
Choose the correct answer from the options given below :

1) (A) (B), (©), D)

@)

3) (©) (A) D)
4 )
Options :

54025056741. 1
54025056742.2

—
=z
T e



54025056743. 3
54025056744. 4

Question Number : 76 Question Id : 54025014186 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

FMfEaHe o S8 AFMh IT=R % Tai i 3= oT3rd H =afed ifsu )

(A) a1 3fg K BOD & Al § Yol FHHr

(B) Hfshaila 3Tdek sl eTHE SATdh U=l § 99 &l

(C) fe-=ma sl argety i # st AifE w9 F fear

(D) dfe:@mE & [H:3ea $F | S IR A e gr sfawe § uftafdd s
= feu Tu fasred H 4 TWE IW 1 =999 I

(1) (A), (B), (C), (D)

(2) (B), (O), (D), (A
3 (O, A

(4) (D) (C

Options :

54025056741. 1
54025056742. 2
54025056743. 3
54025056744. 4

Question Number : 77 Question Id : 54025014187 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Which of the following device is used to culture large volumes of living cells to get products on
large scale ?

(1) PCR machine

(2) Agitator

(3) Bioreactor

(4) Assimilator
Options :
54025056745. 1
54025056746. 2

54025056747.3
54025056748. 4

Question Number : 77 Question Id : 54025014187 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

frefafea § @ SF-H1 g asia Sifvems & Ikl o1 92 T 9 Y6 HH § J40 S S @ 2
(1) HrEHsR a9

(2) Toele®

(3) SEIEERT

(4) TEFTTRNH




Options :

54025056745. 1
54025056746.2
54025056747. 3
54025056748. 4

Question Number : 78 Question Id : 54025014188 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Arrange the following steps of PCR in correct sequence.

(A) Temperature induced denaturation of double stranded DNA.
(B) Isolation of gene of interest

(C) Amplification of gene by using Tag polymerase

(D) Primer annealing on the separated templates

Choose the correct answer from the options given below :

(1) (A), (O, (B), (D)

(2) (B) (A), (D), (C
(3)  (A) (B), (D) (
(4)  (B) (&), (O, (

Options :

54025056749. 1
54025056750. 2
54025056751. 3
54025056752. 4

b

)
)
)

Question Number : 78 Question Id : 54025014188 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

ot Ht 1R o fFrefafad =xoll s 9@ o1 | safied wifs)
(A) fgerga €t w3 v =1 @ TR ffsraesm

(B) dffed S 1 faerm (gerashio)

(C) o YifcmLst & YRt § S &1 gatq

(D) YYehd ool W IUhHS AR

= feu Tu fashedl H 4 TWE IW 1 9949 &I

(1) (A), (©), (B), (D)

(2)  (B) (A) (D) (©)
(3)  (A) (B), (D), (O)
4)  (B) (A) (©), (D)

Options :

54025056749. 1
54025056750. 2
54025056751. 3
54025056752. 4

Question Number : 79 Question Id : 54025014189 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

|Key Value




|C0mprehension IMCQ

Match List - I with List - IL.

List - I List - II
(A) First Restriction Endonuclease ()  GAATTC
(B) Disarmed Plasmid (I)  Selectable markers
(C) Antibiotic resistant genes () Hind II
(D) EcoRI (IV) Vector

Choose the correct answer from the options given below :
(1) (A)-D), B)-(D), (O, (D)-(1V)

(2) (A)()()(IH ()()()(IV
(3)  (A)-(ID, (B)-(IV), (O-(1), (D)-(L
(4)  (A)-0) ( )( ) (©)- (1) ( )-(IIL

Options :

54025056753. 1
54025056754.2
54025056755. 3
54025056756. 4

)
)
)

Question Number : 79 Question Id : 54025014189 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

-1 % |1 Ge-11 1 fHar s .
;Liﬁ.[ =11

(A) 99d gfday vegfaaus () GAATTC

(B) sEfeRs wife (I) =% 979 fags
(C) wfasifas wfeiet s () fés

(D) Eco RI (IV) Weesh

= feu v foswedi § § 9@ SR #1999 HIfGC

(1) (A)—(III) ( )-(D), (O-(ID), (D)-(IV)

(2)  (A)-(D), (B)-(I), (O)-(I0), (D)-(IV)

(3)  (A)-(II), (B)-(IV), (O)-(I), (D)-(I)

(4)  (A)-(D), ( )-(IV), (O)-(1I), (D)~(TI)

Options :

54025056753. 1
54025056754. 2
54025056755. 3
54025056756. 4

Question Number : 80 Question Id : 54025014190 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Gene therapy is a collection of methods for :

(1) Correcting physiological defects

(2) Correcting morphological defects

(3) Treating blood related disorders

(4) Correcting a genetic defect diagnosed in a child or embryo



Options :

54025056757. 1
54025056758. 2
54025056759. 3
54025056760. 4

Question Number : 80 Question Id : 54025014190 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
St Fafre & foru fafirdl = e

(1) wifgenta fasprl =1 3l T

(2) TR ARRFA GRS HE

(3) T HeHll faswRl 1 3UER wE

(4) T S A1 Yol § frer fere e iR fashr el SR

Options :

54025056757. 1
54025056758.2
54025056759. 3
54025056760. 4

Question Number : 81 Question Id : 54025014191 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

What is the full form of ELISA ?

(1) Enzyme Linked Immunodeficient-sorbent Assay
(2) Enzyme Linked Immune-sorbent Assessment
(3) Enzyme Linked Immuno-sorbent Assay

(4) Enzyme Linked Immuno-sorbent Assessment

Options :

54025056761. 1
54025056762.2
54025056763. 3
54025056764. 4

Question Number : 81 Question Id : 54025014191 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

ELISA (TQATSST) 21 qU1 &Y 1 § ?
(1) usEn fdae serefrine-dne= @
(2) TUSEH fowe TRE-HRa= THEH
(3) UseH foise s-dRe= T8
(4) TUSTEH foge g dRe= tEdHe
ciors0%e751
54025056762. 2

54025056763. 3
54025056764. 4



Question Number : 82 Question Id : 54025014192 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

Which of the following statements are NOT true for biopiracy ?

(A) It is the use of bio-resources by multinational companies with proper authorisation by the
concerned country

(B) Developing countries are rich in biodiversity
(C) Developed countries are rich in traditional knowledge related to bio resources

(D) Biopiracy involves inadequate compensation and benefit sharing between developed and
developing countries, while using latter’s bioresources by the former

Choose the correct answer from the options given below :
(1) (A)and (C) Only
(2) (A) and (B) Only
(3) (B) and (D) Only
(4) (©) and (B) Only

Options :

54025056765. 1
54025056766. 2
54025056767. 3
54025056768. 4

Question Number : 82 Question Id : 54025014192 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

frefafaa § @ aEmEtdt & o § Fi9-5M T2 T84 © 2

(A) TR HAEMIAA Hufl gri foret T o1 SHafterd TqHeA 9 afaqies sFTam e Sid JEEH! & JEr

ExCil

Tarrasia <o 59 fafaua § 9gg @

(C) Torrfaa 3w 9 dEmeri ¥ Heiferd oemeTd 99 9 995 §

(D) foerfea & fomrresita Ul & == eraaim sfayfd @ eni =1 9l =1 foam gd srgafd & s9am
AT

= feu U famedi § 9 TE S 1 994 SifSu

(1) ad (A) 3R (O)

(2) A (A) 3R (B)

(3) ad (B) 3R (D)

(4) Had (C) 3R

Options :

54025056765. 1

54025056766. 2

54025056767. 3
54025056768. 4

=

Question Number : 83 Question Id : 54025014193 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key 'Value




|C0mprehension |MCQ

In the exponential growth model equation

dN
= e
‘N’ stands for :

(1) Population size

(2) Number of births

(3) Number of deaths

(4) Difference between births and deaths per unit time

rN

Options :

54025056769. 1
54025056770. 2
54025056771. 3
54025056772. 4

Question Number : 83 Question Id : 54025014193 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
=R Hrdieh! el | gig i FHIH
d_N = N
dt

H N sAferere e ©

(1) HAfE &1 AFR (H1E)
(2) S ! HE&AT
3)

( T &l H&Al
(4) ufa e wog H w9 iR gy H e
Options :

54025056769. 1
54025056770. 2
54025056771. 3
54025056772. 4

Question Number : 84 Question Id : 54025014194 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

The organism that breeds only once in their life time :
(1) Oysters
(2) Banyan tree

(3) Prawn
(4) Pacific salmon fish
Options :

54025056773. 1
54025056774. 2
54025056775. 3
54025056776. 4

Question Number : 84 Question Id : 54025014194 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key 'Value

Comprehension MCQ

gg Siid, S 3794 e il H hael Ueh IR F hidl §
(1) e

(2) TR F IS

(3) i (W)

(4) WO HEEIEE 9 el
Options :

54025056773. 1
54025056774. 2
54025056775. 3
54025056776. 4

Question Number : 85 Question Id : 54025014195 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

The unit of Productivity in terms of energy is :
(1) Kcal m~2
(2) [Kealm™ 2] yr~1!

(3) gm~2yr~!
(4) gm~?
Options :

54025056777. 1
54025056778. 2
54025056779. 3
54025056780. 4

Question Number : 85 Question Id : 54025014195 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
ol o Hay § IUEHA hi THE ©
(1) kcal m—2
(2) [kcal m=2] yr—!
(3 g2y
@ g2
Options :

54025056777. 1
54025056778. 2
54025056779. 3
54025056780. 4
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Which of the following ecosystem is most productive in terms of net primary productivity ?
(1) Deserts

(2) Estuaries

(3) Tropical rain forests

(4) Oceans

Options :

54025056781. 1
54025056782.2
54025056783. 3
54025056784. 4
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54025056781. 1
54025056782. 2
54025056783. 3
54025056784. 4
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Ex-situ conservation method does not include :

(A) Cryopreservation

(B) National park

(C) Zoological park

(D) Sacred groves

Choose the correct answer from the options given below :
(1) (A) and (D) Only

(2) (B)and (C) Only

(3) (B) and (D) Only

(4) (A) and (C) Only

Options :

54025056785. 1
54025056786. 2
54025056787. 3
54025056788. 4
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54025056785. 1
54025056786. 2
54025056787. 3
54025056788. 4
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Comprehension MCQ
Match List - I with List - II.

List - I List - II
(A) Dodo ()  Africa
(B) Quagga (I) Russia
(C) Thylacine (IIT) Mauritius
(D) Stellar Sea Cow (IV) Australia

Choose the correct answer from the options given below :
(1) (A1), B)-D), (O-IV), (D)-(IT)

(2)  (A)-), (B)-(IV), (O)-1D), (D)-(III)
(3)  (A)-(IV), (B)-(II), (O)-(), (D)-(D)
(4)  (A)-(D), (B)-(I), (O)-(IV), (D)~(I)
Options :

54025056789. 1
54025056790. 2
54025056791. 3
54025056792. 4
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(1) (A1), (B)-0), (C-IV), (D)-(IT)
(2)  (A)-I), B)}-(IV), (O-(1I), (D)-(I)
(3)  (A)-(IV), (B)-(ID), (O)-(I1D), (D)-(D)
(4)  (A)-(1D), (B)-(I), (O-1V), (D)~II)
Options :

54025056789. 1
54025056790. 2
54025056791. 3
54025056792. 4
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Brief exposure to the sound of minimum can damage ear drums of humans.
(1) 90 dB
(2) 110dB
(3) 150 dB
(4) 100 dB
Options :

54025056793. 1
54025056794. 2
54025056795. 3
54025056796. 4
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Correct Marks : 5 Wrong Marks : 1
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(1) 90 dB
(2) 110 dB
(3) 150 dB
(4) 100 dB
Options :

54025056793. 1
54025056794. 2
54025056795. 3
54025056796. 4
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ

Identify the metal which is NOT used in catalytic converters.
(1) Gold

(2) Platinum

(3) Rhodium

(4) Palladium

Options :

54025056797. 1
54025056798. 2
54025056799. 3
54025056800. 4
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54025056797. 1
54025056798. 2
54025056799. 3
54025056800. 4

Sub-Section Number : 2
Sub-Section Id : 540250886
Question Shuffling Allowed : No

Is Section Default? : null
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Observe the diagram and answer the following question :

Diagrammatic representation of Lymphatic system
A, B and C labelled in the diagram are :

(A) Thymus

(B) Lymph nodes

(C) Lymphatic vessels

(D) Bone marrow

Choose the correct answer from the options given below :
(1) (A), (B), (D) respectively

(2)  (B) (A) (
(3) (A), (B), (D) respectively
(4) (O), (B), (A) respectively

Options :

54025056801. 1
54025056802. 2
54025056803. 3
54025056804. 4

C) respectively
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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54025056801. 1
54025056802. 2
54025056803. 3
54025056804. 4
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Observe the diagram and answer the following question :

Diagrammatic representation of Lymphatic system
Identify the primary lymphoid organs :

(A) Lymph nodes

(B) Bone marrow

(C) Thymus

(D) Tonsils

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (C) and (D) Only

(3) (B) and (C) Only

(4) (A) and (C) Only

Options :

54025056805. 1

54025056806. 2

54025056807. 3
54025056808. 4
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Observe the diagram and answer the following question :

Diagrammatic representation of Lymphatic system
Which of the following organ reduces in size with age ?
(1) Thymus
(2) Spleen
(3) Lymph nodes
(4) Bone marrow

Options :

54025056809. 1

54025056810. 2

54025056811. 3
54025056812. 4

Question Number : 93 Question Id : 54025014203 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Options :

54025056809. 1
54025056810. 2
54025056811. 3
54025056812. 4
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Observe the diagram and answer the following question :

Diagrammatic representation of Lymphatic system
Match List - I with List - IL

List - 1 List - II
(A) MALT (I)  Largest reservoir of erythrocytes
(B) Spleen (I) Provides microenvironment for development and maturation of
T-lymphocytes
(C) Thymus (IIT) Peyer’s patches

(D) Small intestine (IV) Lining of urogenital tract
Choose the correct answer from the options given below :

(D (A)-(), (B)-(II), (©)-(IV), (D)~(I)
(2)  (A)-D), (B)-(IID), (O)-1), (D)-(IV)
(3) (A)-IV), ( )-(D), (O)-(10), (D)-(IIL)
(4)  (A)-(MD), (B)-(IV), (O-(1), (D)-(ID)
Options :

54025056813. 1

54025056814. 2

54025056815. 3
54025056816. 4
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(3)  (A)- (IV) (B)-(D), (O)-(10), (D)-(1I)
(4) (A, (B)-(IV), (O)-(1), (D)-(IT)
Options :

54025056813. 1
54025056814. 2
54025056815. 3
54025056816. 4
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Observe the diagram and answer the following question :

Diagrammatic representation of Lymphatic system
What is the full form of MALT ?
(1) Mucosa Associated Lymphatic Tissue
(2) Mucous Associated Lymphoid Tissue
(3) Mucous Associated Lymphatic Tissue
(4) Mucosa Associated Lymphoid Tissue
Options :
54025056817. 1
54025056818. 2

54025056819. 3
54025056820. 4
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Options :

54025056817. 1
54025056818. 2
54025056819. 3
54025056820. 4
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Read the paragraph and answer the question.

Broadly, genetic disorders may be grouped into two categories - Mendelian disorders and
Chromosomal disorders. Mendelian disorders are mainly determined by alteration or mutation in
the single gene. These disorders are transmitted to the offspring on the same lines as we have
studied in the principle of inheritance. The trait may also be linked to the sex chromosome as in
case of haemophilia. It is evident that this X-linked recessive trait shows transmission from carrier
female of male progeny.

The disease which is transmitted to the offsprings following the principles of inheritance is :
(1) Sickle cell anaemia

(2) Down's Syndrome

(3) Klinefelter's Syndrome

(4) Turner’s Syndrome

Options :
54025056821. 1



54025056822. 2
54025056823. 3
54025056824. 4
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54025056822. 2

54025056823. 3
54025056824. 4

Question Number : 97 Question Id : 54025014207 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension Comp2

Read the paragraph and answer the question.

Broadly, genetic disorders may be grouped into two categories - Mendelian disorders and
Chromosomal disorders. Mendelian disorders are mainly determined by alteration or mutation in
the single gene. These disorders are transmitted to the offspring on the same lines as we have
studied in the principle of inheritance. The trait may also be linked to the sex chromosome as in
case of haemophilia. It is evident that this X-linked recessive trait shows transmission from carrier
female of male progeny.

Match List - I with List - I1.

List - I List - IT
(A) Autosomal dominant trait (I)  Klinefelter’s Syndrome
(B) Autosomal recessive trait (I) Sickle Cell Anaemia
(C) Sex linked recessive trait (IlI) Myotonic Dystrophy
(D) Gain of chromosomes (IV) Haemophilia

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(IV)f (©-O), (D)-(I)

(2) (A1), (B)-1), (O-1), (D)-(IV)
(3) (A)(HI)()( , (O-IV), (D)-[0)
4)  (A)-D), ), (©O)-(IV), (D))

Options :



54025056825. 1
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(1) (A)-(D), (B)-IV), (O-D, (D)-(II)
(2) (A1), B)-1), (O-1D), (D)-(IV)
(3) (A)-(II), (B)-(II), (O)-(V), (D)-(I)
(4) (A1), (B)-(I), (O~1V), (D)-ID)
Options :
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Read the paragraph and answer the question.

Broadly, genetic disorders may be grouped into two categories - Mendelian disorders and
Chromosomal disorders. Mendelian disorders are mainly determined by alteration or mutation in
the single gene. These disorders are transmitted to the offspring on the same lines as we have
studied in the principle of inheritance. The trait may also be linked to the sex chromosome as in
case of haemophilia. Itis evident that this X-linked recessive trait shows transmission from carrier
female of male progeny.

What is the probability of having a haemophilic child to a carrier mother and a normal
father ?

(1) 50%
(2) 75%
(3) 100%
(4) 25%

Options :

54025056829. 1
54025056830. 2
54025056831. 3
54025056832. 4
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(1) 50%
(2) 75%
(3) 100%
(4) 25%

Options :

54025056829. 1
54025056830. 2
54025056831. 3
54025056832. 4
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Read the paragraph and answer the question.

Broadly, genetic disorders may be grouped into two categories - Mendelian disorders and
Chromosomal disorders. Mendelian disorders are mainly determined by alteration or mutation in
the single gene. These disorders are transmitted to the offspring on the same lines as we have
studied in the principle of inheritance. The trait may also be linked to the sex chromosome as in
case of haemophilia. Itis evident that this X-linked recessive trait shows transmission from carrier
female of male progeny.

Which of the following disease is a result of aneuploidy ?
(A) Turner’s Syndrome

(B) Klinefelter's’s Syndrome

(C) Down's Syndrome

(D) Phenylketonuria

Choose the correct answer from the options given below :
(1) (A)and (C) only

(2) (B)and (C) only

(3) (A), (B) and (C) only

(4) (A) and (D)

Options :

54025056833. 1
54025056834. 2
54025056835. 3
54025056836. 4
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Question Number : 100 Question Id : 54025014210 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension Comp?2

Read the paragraph and answer the question.

Broadly, genetic disorders may be grouped into two categories - Mendelian disorders and
Chromosomal disorders. Mendelian disorders are mainly determined by alteration or mutation in
the single gene. These disorders are transmitted to the offspring on the same lines as we have
studied in the principle of inheritance. The trait may also be linked to the sex chromosome as in
case of haemophilia. Itis evident that this X-linked recessive trait shows transmission from carrier
female of male progeny.
Which of the following is not a Mendelian disorder ?
(1) Cystic Fibrosis
(2) Turner’s Syndrome
(3) Sickle cell anaemia
(4) Thalassaemia
Options :
54025056837. 1
54025056838. 2

54025056839. 3
54025056840. 4
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Options :
54025056837. 1
54025056838. 2
54025056839. 3
54025056840. 4
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Geography

Section Id : 540250321

Section Number : 1
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Number of Questions : 50
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Section Marks : 200
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Question Number : 101 Question Id : 54025014261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Human adapted to the dictates of nature, because the level of technology was very low and the
stage of human social development was also primitive. This type of interaction between human
and nature was termed as

(1) Environmental determinism
(2) Neo-determinism

(3) Humanisation of Nature

(4) Possibilism

Options :

54025057041. 1
54025057042. 2
54025057043. 3
54025057044. 4

Question Number : 101 Question Id : 54025014261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

“He gRfd & FIEl % 3R €, it UrENfrR] T W1 agd o1 8 "iHg o "rAifSe foqehrs i
arereeq oft enifeq off " OFE 3R Yfd & o9 39 YR & a1 & EA G

(1) vAEyg fHyggar
(2) Fa-fFrveEar

(3) Uehfd = AR
(4) HYeETg

Options :

54025057041. 1
54025057042. 2
54025057043. 3
54025057044. 4



Question Number : 102 Question Id : 54025014262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

“Arteries of circulation” have been often described as metaphor for the :
(1) Network of Roads
(2) Network of Cities
(3) Network of Rivers

(4) Network of Computers

Options :

54025057045. 1
54025057046. 2
54025057047. 3
54025057048. 4

Question Number : 102 Question Id : 54025014262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

iR &t el 9 e auiF % fon w9 % w9 8 9H e ©
(1) HH *1 A

(2) W& () A

(3) e =1 ST

(4) FHFEH (HUh) A

Options :

54025057045. 1
54025057046. 2
54025057047. 3
54025057048. 4

Question Number : 103 Question Id : 54025014263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Natural growth of population denotes :
(1) Births — Deaths + Inmigration — Outmigration
(2) Births —Deaths + Outmigration — Inmigration
(3) Births — Deaths

(4) Births + Migration

Options :

54025057049. 1
54025057050. 2
54025057051. 3
54025057052. 4

Question Number : 103 Question Id : 54025014263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




TGS F Ui gfg guida § |
(1) 9 — G + YT — TR (STEH)
(2) W9 — T + IRIVEH — FYATg

(3] =H—-Hd
(4) S +YaE

Options :

54025057049. 1
54025057050. 2
54025057051. 3
54025057052. 4

Question Number : 104 Question Id : 54025014264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

In the idea of human development, equity refers to the following :

(

D)
(2) Continuity in the availability of opportunities
3)

(

(4) People have the power to make choices

Making equal access to opportunities available to everybody

Efforts to increase the people knowledge

Options :

54025057053. 1
54025057054. 2
54025057055. 3
54025057056. 4

Question Number : 104 Question Id : 54025014264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

e faera % foem o, guar f= § § dwifq 2
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Options :
54025057053. 1
54025057054. 2

54025057055. 3
54025057056. 4

Question Number : 105 Question Id : 54025014265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




Who has stated that “Asia has many places where people are few and few places where people
are very many”.

(1)  Griffith Taylor

(2) Karl Ritter

(3) George B. Cressey

(4) Amartya Sen

Options :

54025057057. 1
54025057058. 2
54025057059. 3
54025057060. 4

Question Number : 105 Question Id : 54025014265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

“ufyrn § 9 eAfesk Tl T 95 FH IR 9Ed Y WWE R 9gd A @ wd €17 78 e wer?
(1) fuftey oer

(2) el fex
(

3)  SifSt Sl SRE
(4) 3 WA
Options :

54025057057 1
54025057058. 2
54025057059. 3
54025057060. 4

Question Number : 106 Question Id : 54025014266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

Which of the following country in the world has the highest sex ratio ?
(1) Slovakia
(2) Slovenia
(3) Serbia
(4) Latvia
Options :
54025057061. 1
54025057062 2

54025057063. 3
54025057064. 4

Question Number : 106 Question Id : 54025014266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ
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(1) EAreTRan

(2) wEE

(3) e

(4) EdrfeEn
Options :

54025057061. 1
54025057062. 2
54025057063. 3
54025057064. 4

Question Number : 107 Question Id : 54025014267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

A circular pattern of settlement develops at which one of the following locations ?
(1) Around a lake

)
(2) Cross roads
(3)
(4) Tri-junction

Railway line

Options :

54025057065. 1
54025057066. 2
54025057067. 3
54025057068. 4

Question Number : 107 Question Id : 54025014267 Question Type : MCQ Option Shuffling : No Is Question Mandatory
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

: No Calculator : None

& 1 T JahR ey f 3§ frm wom R fasfaa S g ?
(1) 3 % = 3K

(2) TR & HH T

(3) e AT W
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Options :

54025057065. 1
54025057066. 2
54025057067. 3
54025057068. 4

Question Number : 108 Question Id : 54025014268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




Which highway links Vancouver in British Columbia to St. John's city in Newfoundland ?
(1) The Trans-Canadian Highway

(2) Alaskan Highway

(3) The Pan-American Highway

(4) The Trans-Continental Stuart Highway

Options :

54025057069. 1
54025057070. 2
54025057071. 3
54025057072. 4

Question Number : 108 Question Id : 54025014268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

o T T, fafew wmfeen § S5 3 genvede § S 5 IR A Sied § 2
(1) 209 (UR) FHfead Temnt

(2)  STATERR TSHEE

(3) UA-3THREHRA TSTHA
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Options :

54025057069. 1
54025057070. 2
54025057071. 3
54025057072. 4

Question Number : 109 Question Id : 54025014269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Which of the following pipelines is used to carry petroleum from Gulf of Mexico to the North-
Eastern states of U.S.A.

(1) Mexico pipeline

(2) Biginch pipeline

(3) North-Eastern states pipeline
(4) Chicago-Mexico pipeline

Options :

54025057073. 1
54025057074. 2
54025057075. 3
54025057076. 4

Question Number : 109 Question Id : 54025014269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
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Options :

54025057073. 1
54025057074. 2
54025057075. 3
54025057076. 4

Question Number : 110 Question Id : 54025014270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

The highest motorable road density is found in which of the following regions of the world ?
(1) Africa

(2) Asia

(3) North America

(4) Australia

Options :

54025057077. 1
54025057078. 2
54025057079. 3
54025057080. 4

Question Number : 110 Question Id : 54025014270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
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(1)  S3TShIeRI
(2) ufeeEn
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(4) smRfam
Options :

54025057077. 1
54025057078. 2
54025057079. 3
54025057080. 4

Question Number : 111 Question Id : 54025014271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ




Which of the following is NOT a member nation of the Association of South East Asian Nations
ASEAN) ?

(
(1) India
(2) Cambodia
(3) Vietnam
(4) Laos

Options :

54025057081. 1
54025057082. 2
54025057083. 3
54025057084. 4

Question Number : 111 Question Id : 54025014271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
= § 4 91 ' wEfeuE SAiE aey T2 tEE 9 s gee U @ 8 (snfaaE) ?
(1) o
(2) wEEITEAT
(3) fauam™
(4) ©TRIE
Options :

54025057081. 1
54025057082. 2
54025057083. 3
54025057084. 4

Question Number : 112 Question Id : 54025014272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Which of the following was the first Million City of the World ?
(1) New York

(2) [Paris

(3) London

(4) Tokyo
Options :

54025057085. 1
54025057086. 2
54025057087. 3
54025057088. 4

Question Number : 112 Question Id : 54025014272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ
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(1) =R
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Options :

54025057085. 1
54025057086. 2
54025057087. 3
54025057088. 4

Question Number : 113 Question Id : 54025014273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Arrange the following steps of primitive subsistence agriculture in sequential order.
(A) Vegetation is usually cleared

(B)  Ashes of brunt vegetation added to soil for enhancing fertility

(C) Cleared vegetation is burnt by fire

(D) Farmers shift to another part and clear other patch

Choose the correct answer from the options given below :

1) (A) (©), D), (B)

(2)  (A) (©), (B), (D)
(3) (A) (B), (D), (O)
(4) (A) (B), (©), (D)
Options :

54025057089. 1
54025057090. 2
54025057091. 3
54025057092. 4

Question Number : 113 Question Id : 54025014273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ
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(1) (A) (©), (D), (B)

(2)  (A), (©), ( ) (D)

(3)  (A), (B), (D), (O

(4) (A) (B), (C), (D)

Options :

54025057089. 1



54025057090. 2
54025057091. 3
54025057092. 4

Question Number : 114 Question Id : 54025014274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Arrange the following approaches of human geography in order of their emergence.
(A) Post-modernism

(B) Areal Differentiation

(C) Spatial Organisation

(D) Regional Analysis

Choose the correct answer from the options given below :

1) (D), (B), (Q), (A)

(2)

(4)
Options :
54025057093. 1
54025057094. 2
54025057095. 3
54025057096. 4

Question Number : 114 Question Id : 54025014274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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ot

(1) (D), (B), (O), (A)
(2) (O, (D), (A), (B)
(3) (D) (©), (A), (B)
(4) (D) (), (B), (A)
Options :

54025057093. 1
54025057094. 2
54025057095. 3
54025057096. 4

Question Number : 115 Question Id : 54025014275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




Identify the correct points about tourist attractions.

(A) Climate and Landscape

(B) History and Art

(C) Political insecurity

(D) Culture and Economy

Choose the correct answer from the options given below :
(1) (B), (€) and (D) only

(2) (A), (C) and (D) only
(3)  (A), (B) and (D) only
(4) (A), (B) and (C) only
Options :

54025057097. 1
54025057098. 2
54025057099. 3
54025057100. 4

Question Number : 115 Question Id : 54025014275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ
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(1) %ad (B), (C) 3R (D)

(2) FHFd (A), (O) ¥R (D)

(3) A (A), (B) &R (D)

(4) FHad (A), (B) 3R (Q)

Options :

54025057097. 1
54025057098. 2
54025057099. 3
54025057100. 4

Question Number : 116 Question Id : 54025014276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




Which of the following statements about the factors influencing distribution of population are
correct ?

(A) Availability of minerals and mining activities lead to population attraction

(B) Urbanisation and job opportunities lead to higher population density

(C) Industrialisation leads to job opportunities as well as subsidiary activities

(D) Mountainous regions are heavily populated due to tourists visit and subsidiary activities
Choose the correct answer from the options given below :

u)wu d (C) only

(2) (A), (B) and (D) only

@)mummm

(4)  (B), (C) and (D) only

Options :

54025057101. 1
54025057102. 2
54025057103. 3
54025057104. 4

Question Number : 116 Question Id : 54025014276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
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(1) %34 (A), (B) 3T (C)

(2) FFA (A), (B) 3R (D)
(3) Had (A), (C) 3R (D)
(4) F (B), (C) 3R (D)
Options :

54025057101. 1
54025057102. 2
54025057103. 3
54025057104. 4

Question Number : 117 Question Id : 54025014277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ




Identify the problems of rural settlements in developing countries carefully :
(A) Most house designs are typically deficient in proper ventilation

(B) Water borne diseases tend to be a common problem

(C) Adequate supply of potable water to rural settlements

(D) Shortage of toilet and garbage disposal facilities

Choose the correct answer from the options given below :

(1) (A), (B) and (D) only

(2) (A), (B) and (C) only
(3) (A), (D) and (C) only
(4) (B), (C) and (D) only
Options :

54025057105. 1
54025057106. 2
54025057107. 3
54025057108. 4

Question Number : 117 Question Id : 54025014277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ
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(1) ad (A), (B) 3R (D)

(2) F=e (A), (B) 3T (C)

(3) T (A), (D) R (O)

(4) Fd (B), (C) 3R (D)

Options :

54025057105. 1
54025057106. 2
54025057107. 3
54025057108. 4

Question Number : 118 Question Id : 54025014278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




Match List - I with List - IL
List - I List - II
Regional Trade Block Head Quater Country
A) Association of South East Asian Nations

( I) Belarus
(B) Common Wealth of Independent States

(

(

II) Austria
IlI) Indonesia
IV) Belgium

C) European Union

— — ——

D) Organisation of petroleum exporting Countries
Choose the correct answer from the options given below :
(1) (A)-D, (B)-(ID), (O, (D)-(IV)

(2)  (A)-D), B)-V), (-1, (D)L
(3) (A)-(I), (B)-(D), (O-(1V), (D)-(IL
(4) (A)-1V), (B)-(ID), (O)-(1I), (D)-{

Options :

54025057109. 1
54025057110. 2
54025057111. 3
54025057112. 4

)
)
)

Question Number : 118 Question Id : 54025014278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ
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(1) (A)-(1), (B)-(IL), (O)-(1I), (D)-(IV)
(2) (A)-(ID), (B)-(IV), (C)-(I), (D)~(1I)
(3)  (A)-(IID), (B)-(I), (©-V), (D)-(II)
(4) (A)-(IV), (B)-(I1D), (O)-I), (D)-(I)
Options :

54025057109. 1
54025057110. 2
54025057111. 3
54025057112. 4

Question Number : 119 Question Id : 54025014279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List - I with List - IL.

List - 1 List - IT
Branch of Human Geography Discipline
(A) Population Geography (I)  Sociology
(B) Social Geography (II) Military Science
(C) Political Geography (IIT) Agricultural Science
(D) Economic Geography (IV) Demography

Choose the correct answer from the options given below :
(1) (A)'(IH) ( )-(I), ©)-(V), (D)-()
(2) (A1), (B)-(IV), (O)-(II), (D)-(II
(3) (&) (IV) (B )() (©)-(1D), (D)L
(4) (A1), (B)-(D), ©)-@), (D}-IV

Options :

54025057113. 1
54025057114. 2
54025057115. 3
54025057116. 4

)
)
)

Question Number : 119 Question Id : 54025014279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
T - 1 1 =it - 11 H i)
¥ -1I

WS YT hi ITEm AITEA
(A) SEHEA P () HESEIS
(B) WIS it 1 = fagm
(C) USHIfdH sFiet (1) Y fagm
(D) Tfeer s (IV) SHifeReRt
e faehedl o 9 W& ST &1 999 Fifeg ;
(1)  (A)-(1D), (B)-(II), (©O)-(IV), (D)-(D)
(2) (A)-D), (B )( ). (©)-(110), (D)-(I0)
(3)  (A)-IV), )() (©)-(1D), (D)~(IIT)
(4) (A)-(10), (B)-(II), (O)-(I), (D)-(IV)
Options :

54025057113. 1
54025057114. 2
54025057115. 3
54025057116. 4

Question Number : 120 Question Id : 54025014280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




Match List - I with List - IL.

List - 1 List - II
Country Level of Human Development, 2017
(A) Switzerland ()  Medium
(B) Niger (I) High
(C) Brazil (IIT) Very High
(D) Nepal (IV) Low

Choose the correct answer from the options given below :

(1) (A)-D), (B)-(ID), (O)-(0), (D)-(IV)

(2) (A, (B)-(1), (O, (D)-(IV)
(3)  (A)-(IV), (B)-(II), (O)-(1), (D)-(I)
(4) (A1), (B)-(IV), (O)-(I), (D)-(I)

Options :

54025057117. 1
54025057118. 2
54025057119. 3
54025057120. 4

Question Number : 120 Question Id : 54025014280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

T - 1 1 =it - 11 H i)
ol AT - 11

41 e faerTa &1 @R, 2017
(A) feagsretre () W
(B) HESR Iy ==
(C) s (IIl) =gd 34
(D) ura (1v) f=
e faehedl o 9 W& ST &1 999 Fifeg ;
(1)  (A)-(D), (B)-(I1I), (©)-(D), (D)-(IV)
(2) (A)-(D), (B)-(I), (O)- (HI ( )-(IV)
(3)  (A)-(IV), (B)-(IID), (O)-dI), (D)-(I)
(4) (A)-(ID), (B)-(IV), (C)( ), (D)-()
Options :

54025057117. 1
54025057118. 2
54025057119. 3
54025057120. 4

Question Number : 121 Question Id : 54025014281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




The units like Panna, Para and Palli are examples of settlements.
(1) Clustered
(2) Semi-Clustered
(3) Hamleted
(4) Dispersed
Options :
54025057121. 1
54025057122. 2

54025057123. 3
54025057124. 4

Question Number : 121 Question Id : 54025014281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
T, 9TST AR TTel S SRRl Sl & e € |

(1) =g
(2) erdf-f=a

(3) Tl
(4) uftiEre
Options :

54025057121. 1
54025057122. 2
54025057123. 3
54025057124. 4

Question Number : 122 Question Id : 54025014282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

According to Indian Census, urban towns and cities are grouped into how many of the following
classes ?

(1) Three

(2) Four

(3) Five

(4) Six
Options :

54025057125. 1
54025057126. 2
54025057127. 3
54025057128. 4

Question Number : 122 Question Id : 54025014282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ




R SO o TR, Wl afiadl oIR T @l foraw &1t § wqfed foman )
(1) o=

(2) =R
(3) dH
4) B

Options :

54025057125. 1
54025057126. 2
54025057127. 3
54025057128. 4

Question Number : 123 Question Id : 54025014283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Information on reasons for migration was first incorporated in the Census of :
(1) 1881

(2) 1981
(3) 1971
(4) 1991

Options :

54025057129. 1
54025057130. 2
54025057131. 3
54025057132. 4

Question Number : 123 Question Id : 54025014283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

fore SO H Ugell W) 9a & faw Run ki g1 6 wftafad fen
(1) 1881

(2) 1981

(3) 1971

(4) 1991

Options :

54025057129. 1
54025057130. 2
54025057131. 3
54025057132. 4

Question Number : 124 Question Id : 54025014284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




Which one of the following states occupied first place in case of in-migrants ?
(1) Uttar Pradesh
(2) Bihar
(3) Maharashtra
(4) Rajasthan
Options :
54025057133. 1
54025057134. 2
54025057135. 3
54025057136. 4

Question Number : 124 Question Id : 54025014284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Fr=fafeas v o forg § 998 s3er vardt & € 2
(1) W 9™
(2) feR

(3) HeRI%
(4) USTE
Options :

54025057133. 1
54025057134. 2
54025057135. 3
54025057136. 4

Question Number : 125 Question Id : 54025014285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Which of the following is applicable to Girmit Act ?
(1) Life time contract for migration

(2) Time bound contract for migration

(3) Life time contract for tourism

(4) Time bound contract for medical treatment

Options :

54025057137. 1
54025057138.2
54025057139. 3
54025057140. 4

Question Number : 125 Question Id : 54025014285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




71 8 § %9 w1 firfie vee 92 o @ @ ?
(1) Tag & foru srsited SAa
(2) VEH % fau goeg STy
(3) U¥eA * foau sAsied sTay
(4) @RI IYER & T qHes STaY

Options :

54025057137. 1
54025057138. 2
54025057139. 3
54025057140. 4

Question Number : 126 Question Id : 54025014286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

Which one of the following has the lowest proportion of speakers in the linguistic families of India ?
(1) Dravidian
(2) Austric
(3) Indo-European
(4) Sino-Tibetan
Options :
54025057141, 1
54025057142, 2

54025057143.3
54025057144. 4

Question Number : 126 Question Id : 54025014286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

YRd & Frfafed sl gfem § 9§ fan su[ § Sl 1 are [ 91 8 2
(1) =i
(2) AfEgh

=

(3) sEI-gUfgaA
(4) =HI-fossrdt

Options :

54025057141. 1
54025057142. 2
54025057143. 3
54025057144. 4

Question Number : 127 Question Id : 54025014287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ




Which one of the followings is NOT a characteristic of slums ?
(1) Poor ventilation

(2) Poor hygienic condition

(3) Wider roads

(4) Lack of basic amenities

Options :

54025057145. 1
54025057146.2
54025057147. 3
54025057148. 4

Question Number : 127 Question Id : 54025014287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

frfafad o &M 1 T (%) 1 ok 728 82
(1) Tt gl & A9E

(2) = = g

(3) I weh

(4) HAYd AT 1 A9E

Options :

54025057145. 1
54025057146.2
54025057147. 3
54025057148. 4

Question Number : 128 Question Id : 54025014288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which one of the following is NOT the project undertaken by National Highway Authority of
India (NHAI) ?

(1) Atal Tunnel

(2) Golden Quadrilateral
(3) North-South Corridor
(4) East-West Corridor

Options :

54025057149. 1
54025057150. 2
54025057151. 3
54025057152. 4

Question Number : 128 Question Id : 54025014288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




freafafaa § @ &R @1 IRd T wemr! WitERTo (NHAL) & §R1 o Wisieae &1 91 78 € 2
(1) &=a =3
(2) i =g
(3) ST-gfero i
(4) gd-ufvEm T
Options :

54025057149. 1
54025057150. 2
54025057151. 3
54025057152. 4

Question Number : 129 Question Id : 54025014289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Radio broadcasting was started in India in 1923 by
(1) Indian Broadcasting System

(2) All India Radio

(3) Radio Club of Bombay

(4) Akashwani

Options :

54025057153. 1
54025057154.2
54025057155. 3
54025057156. 4

Question Number : 129 Question Id : 54025014289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

1923 H vRa # Yfed v &) yEe1a fFas g &1 |
(1) 3fesd srewien fagweq

(2) it sfean dfea

(3) fedl Fad % STl

(4)  SreREE

Options :

54025057153. 1
54025057154.2
54025057155. 3
54025057156. 4

Question Number : 130 Question Id : 54025014290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Two very important ports that were taken away from India during partition are
(1) Karachi and Chittagong

(2) Karachi and Kandla

(3) Chittagong and Haldia

(4) Haldia and Karachi

Options :

54025057157. 1
54025057158. 2
54025057159. 3
54025057160. 4

Question Number : 130 Question Id : 54025014290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

T & R, RA & < 95 HedqU devTRI Bl A faw T a e e
(1) T 3R =2
(2) UEN AR HEAl

(3) =g iR Bfee
(4) efegan SR =

Options :

54025057157. 1
54025057158. 2
54025057159. 3
54025057160. 4

Question Number : 131 Question Id : 54025014291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Identify the organisation responsible for the construction and maintenance of roads in the border
areas of India.

(1) Public Works Department
(2) National Highway Authority of India
(3) Respective Border State Governments
(4) Border Road Organisation

Options :

54025057161. 1
540250571622
54025057163. 3
54025057164. 4

Question Number : 131 Question Id : 54025014291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ




IRd & diHmEd Tghl & @EE AR 0 &1 e & fau §7eq i 1g9m 1|
(1) @ & faam

(2) WA T HEME wiRe

(3) HHEdl Tl | g SRl

(4) I HEH HISA

Options :

54025057161. 1
54025057162.2
54025057163. 3
54025057164. 4

Question Number : 132 Question Id : 54025014292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which offshore terminal has been developed to reduce the pressure at Kandla port ?
(1) Nhava Sheva

(2) Dwarka

(3) Porbander

(4) Vadinar

Options :

54025057165. 1
54025057166. 2
54025057167. 3
54025057168. 4

Question Number : 132 Question Id : 54025014292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

[ T A9 2fHTe1 HISe 9SUNE & <9 il FH F fou faerfag foman wam ar?
(1)  ~=gren-3ren

(2) SRt

(3) UREET

(4) =R
Options :

54025057165. 1
54025057166. 2
54025057167. 3
54025057168. 4

Question Number : 133 Question Id : 54025014293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




To improve the water quality of the river Ganga, which programme has been launched ?
(1) Water Purification Programme

(2) Namami Gange Programme
(3) Swachh Bharat Mission
(4) Swachh Jal Mission

Options :

54025057169. 1
54025057170. 2
54025057171. 3
54025057172. 4

Question Number : 133 Question Id : 54025014293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

T el % Sfel i U GUR 6 fAU A ¥ wrimn w1 gestd i w2
(1) ¥ 3 HEEH

(2)  HITH T FEwE

(3) = WRd faem

4) =5 5id faeE

Options :

54025057169. 1
54025057170. 2
54025057171. 3
54025057172 4

Question Number : 134 Question Id : 54025014294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Arrange the following in chronological order of their set up/establishment.
(A) Oil and Natural Gas Commission

(B) Atomic Energy Institute at Trombay

(C) Atomic Energy Commission

(D) Bhabha Atomic Research Centre

Choose the correct answer from the options given below :

1) (O, (B). (D), (A)

(2) (©) (B)(A), D
(3)  (B) (O (&) (
(4)  (A) (B), (D) (
Options :

54025057173 1
54025057174. 2

54025057175.3
54025057176. 4

>

O 9

)
)
)

Question Number : 134 Question Id : 54025014294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

|Key 'Value




|C0mprehensi0n |MCQ

Treferfiad Tmaa1/37e 787 o HTAshiHE A H sHeeed i |
(A) O UE Yrkfdes 19 SR

(B) I St HEA ()

(C) TRHM Sl ST

(D) IS TEATY] SFHUM Hg

ﬁ%ﬁqﬁaﬁﬁﬁﬁ‘qﬁwaﬂwaﬁﬁm :
(1) (O, (B), (D), (A)
(2) ( ): (A), (D)

-

(©),
3)  (B) (©). A) D)
4)  (A), (B), (D) (O

Options :

54025057173. 1
54025057174. 2
54025057175.3
54025057176. 4

Question Number : 135 Question Id : 54025014295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

Arrange the following religious groups of India in descending order of their Population percentages.
(A) Christians

(B) Muslims
(C) Hindus
(D) Sikhs

Choose the correct answer from the options given below :

(1) (O, (B), (D), (A)
(2) (O, (B). (A), (D)
(3) (B) (O), (A), (D)
(4) (B), (©). (D), (A)
Options :

54025057177. 1
54025057178. 2
54025057179. 3
54025057180. 4

Question Number : 135 Question Id : 54025014295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ




A ok ©TTHe THEI ohl 37k STHEA YT < 3TIHR ¥ed %H H =Zafied il
(A) 2

(B) TfeH

() R

(D) fo=a

(4)
Options :
54025057177. 1
54025057178.2
54025057179. 3
54025057180. 4

Question Number : 136 Question Id : 54025014296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Arrange the following Indian river mouths from north to south direction.
(A) Krishna

(B) Mahanadi

(C) Kaveri

(D) Godavari

Choose the correct answer from the options given below :

(1) (D) (B), (©), (A)

(2) (D), (B), (A) (©)
(3)  (B), (D), (O), (A)
(4)  (B), (D), (A) (O

Options :

54025057181. 1
54025057182.2
54025057183. 3
54025057184. 4

Question Number : 136 Question Id : 54025014296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




e vt Afedi & 5@ 1 37 3 9 St feen | sxafiem &)

(A) Fom

(B) HRWRI

(C) Tl

(D) Tireradt

o feu fosredi & 9 W SR 1 997 FifoC
(1) (D) (B) (©), (A)

(2) (D), (B), (A), (O

(3)  (B), (D), (©), (A)

(4) (B), (D), (A), (O
Options :

54025057181. 1
54025057182. 2
54025057183. 3
54025057184. 4

Question Number : 137 Question Id : 54025014297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Which of the following statements about Namami Gange programme are correct ?
(A) Developing ‘Ganga Grams in Himachal Pradesh

(B) Afforestation along the bank to increase biodiversity

(C) Developing sewerage treatment systems in town

(D) Monitoring of Industrial effluents

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only

(2) (A), (C) and (D) only

(3) (B, (C) and (D) only

(4) (A), (B) and (D) only

Options :

54025057185. 1
54025057186.2
54025057187. 3
54025057188. 4

Question Number : 137 Question Id : 54025014297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




e T s ¥ AR F Frfafed § #5 9 wu ol 82
(A) Temm=a we@ & ‘i it fasfaa &

(B) e % f TR gamiow = Stafafaua sgr

(C) w&al § HIos WEA 9 i foerfad &

(D) ¥t game =t FerE

fir fou foreredl § & Wl SR 1 = AR

(1) e (A), (B) 3R (C)

(2) 9 (A), () ¥R (D)

(3) e (B), (O) 3R (D)

(4) HIA (A), (B) 3 (D)

Options :

54025057185. 1
54025057186. 2
54025057187. 3
54025057188. 4

Question Number : 138 Question Id : 54025014298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Which of the following statements about the Atal Tunnel are correct ?
(A) This tunnel connects Manali to Lahaul-Spiti Valley

(B)  This tunnel has been built by Border Road Organisation
(C) This is the world’s longest highway tunnel

(D) This tunnel is 7.02 km long

Choose the correct answer from the options given below :

(1) (B), (©), (D) only

(2)  (A), (B), (C) only

(3)  (A) (B), (D) only

(4)  (A) (©), (D) only

Options :

54025057189. 1

54025057190. 2

54025057191. 3
54025057192. 4

Question Number : 138 Question Id : 54025014298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




e 29 & o § Frefafed § 9 #F 9 wom w1 22
(A) % A T § Age-Tifa =t R e ®
(B) I A HIHI WS WIS % §RI S 1 §
(C) 9 fova =t werd et wemrt oa @

(D) 9% 2Fa 7.02 forelt owit @

fa= feu fawedi § O Wat IO 1 =949 HIfSU :
(1) aa (B), (O), (D)
(2) <hEd (A), (B

(
(3) Had (A), (B
(4) FFd (A), (O), (D)

Options :

54025057189. 1
54025057190. 2
54025057191. 3
54025057192. 4
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(A) High Yield Wheat ()  Coffee

(B) High Yield Rice (II) Cotton

(C) Robusta () Mexico

(D) Narma (IV) Phillipines
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Steel Plant Water Supply

(A) Indian Iron and Steel Company (IISCO) () Kharkai
(B) Tata Iron and Steel Company (TISCO) (I) Bhadravati
(C) Visvesvaraiya Iron and Steel Company (VISL) (IIf) Koel

(D) Rourkela Steel Plant (IV) Barakar

Choose the correct answer from the options given below :

(1) (A)- (IV B)-(I), 1), (D)-(IT)
(2) (A)-1IV (B) -0, (C) ( (D)~(11D)
(3)  (A)-(D), (B)-(IV), (O)-(IL ) ( )-(1T)
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Read the passage given below and answer the question :

Services occur at many different levels. Low-order services, such as grocery shops and laundries,
are more common and widespread than high-order services or more specialised ones like those of
accountants, consultants and physicians. Services are provided to individual consumers who can
afford to pay for them. For example, the gardener, the launderers and the barber do primarily
physical labour. Teacher, lawyers, physicians, musicians and others perform mental labour.

Many services have now been regulated. Making and maintaining highways and bridges,
maintaining fire fighting departments and supplying or supervising education and customer-care
are among the important services most often supervised or performed by governments or companies.
State and union legislation have established corporations to supervise and control the marketing
of such services as transport, telecommunication, energy and water supply. Professional services
are primarily health care, engineering, law and management. The location of recreational and
entertainment services depends on the market. Multiplexes and restaurants might find location
within or near the Central Business District (CBD), whereas a golf course would choose a site
where land costs are lower than in the CBD.

Personal services are made available to the people to facilitate their work in daily life. The workers
migrate from rural areas in search of employment and are unskilled. They are employed in domestic
services as housekeepers, cooks, and gardeners.

Which of the followings is the professional service ?
(1) Launderer

(2) Health care provider

(3) Gardener

(4) Barber

Options :
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Read the passage given below and answer the question :

Services occur at many different levels. Low-order services, such as grocery shops and laundries,
are more common and widespread than high-order services or more specialised ones like those of
accountants, consultants and physicians. Services are provided to individual consumers who can
afford to pay for them. For example, the gardener, the launderers and the barber do primarily
physical labour. Teacher, lawyers, physicians, musicians and others perform mental labour.

Many services have now been regulated. Making and maintaining highways and bridges,
maintaining fire fighting departments and supplying or supervising education and customer-care
are among the important services most often supervised or performed by governments or companies.
State and union legislation have established corporations to supervise and control the marketing
of such services as transport, telecommunication, energy and water supply. Professional services
are primarily health care, engineering, law and management. The location of recreational and
entertainment services depends on the market. Multiplexes and restaurants might find location
within or near the Central Business District (CBD), whereas a golf course would choose a site
where land costs are lower than in the CBD.

Personal services are made available to the people to facilitate their work in daily life. The workers
migrate from rural areas in search of employment and are unskilled. They are employed in domestic
services as housekeepers, cooks, and gardeners.

Which of the following services are of the highest order ?
(1) Grocery shopkeepers

(2) Launderer

(3) Gardener

(4) Accountant

Options :
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Read the passage given below and answer the question :

Services occur at many different levels. Low-order services, such as grocery shops and laundries,
are more common and widespread than high-order services or more specialised ones like those of
accountants, consultants and physicians. Services are provided to individual consumers who can
afford to pay for them. For example, the gardener, the launderers and the barber do primarily
physical labour. Teacher, lawyers, physicians, musicians and others perform mental labour.

Many services have now been regulated. Making and maintaining highways and bridges,
maintaining fire fighting departments and supplying or supervising education and customer-care
are among the important services most often supervised or performed by governments or companies.
State and union legislation have established corporations to supervise and control the marketing
of such services as transport, telecommunication, energy and water supply. Professional services
are primarily health care, engineering, law and management. The location of recreational and
entertainment services depends on the market. Multiplexes and restaurants might find location
within or near the Central Business District (CBD), whereas a golf course would choose a site
where land costs are lower than in the CBD.

Personal services are made available to the people to facilitate their work in daily life. The workers

migrate from rural areas in search of employment and are unskilled. They are employed in domestic
services as housekeepers, cooks, and gardeners.

Which of the following services are performed by Government ?
(1) Construction of multiplexes and restaurants
(2) Constructing multistoried buildings
(3) Maintaining fire fighting service
(4) Recreation and entertainment services
Options :
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Read the passage given below and answer the question :

Services occur at many different levels. Low-order services, such as grocery shops and laundries,
are more common and widespread than high-order services or more specialised ones like those of
accountants, consultants and physicians. Services are provided to individual consumers who can
afford to pay for them. For example, the gardener, the launderers and the barber do primarily
physical labour. Teacher, lawyers, physicians, musicians and others perform mental labour.

Many services have now been regulated. Making and maintaining highways and bridges,
maintaining fire fighting departments and supplying or supervising education and customer-care
are among the important services most often supervised or performed by governments or companies.
State and union legislation have established corporations to supervise and control the marketing
of such services as transport, telecommunication, energy and water supply. Professional services
are primarily health care, engineering, law and management. The location of recreational and
entertainment services depends on the market. Multiplexes and restaurants might find location
within or near the Central Business District (CBD), whereas a golf course would choose a site
where land costs are lower than in the CBD.

Personal services are made available to the people to facilitate their work in daily life. The workers
migrate from rural areas in search of employment and are unskilled. They are employed in domestic
services as housekeepers, cooks, and gardeners.

Which of the following service provider does NOT perform mental labour ?
(1) Lawyer

(2) Gardener

(3) Musician

(4) Physician

Options :
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Read the passage given below and answer the question :

Services occur at many different levels. Low-order services, such as grocery shops and laundries,
are more common and widespread than high-order services or more specialised ones like those of
accountants, consultants and physicians. Services are provided to individual consumers who can
afford to pay for them. For example, the gardener, the launderers and the barber do primarily
physical labour. Teacher, lawyers, physicians, musicians and others perform mental labour.

Many services have now been regulated. Making and maintaining highways and bridges,
maintaining fire fighting departments and supplying or supervising education and customer-care
are among the important services most often supervised or performed by governments or companies.
State and union legislation have established corporations to supervise and control the marketing
of such services as transport, telecommunication, energy and water supply. Professional services
are primarily health care, engineering, law and management. The location of recreational and
entertainment services depends on the market. Multiplexes and restaurants might find location
within or near the Central Business District (CBD), whereas a golf course would choose a site
where land costs are lower than in the CBD.

Personal services are made available to the people to facilitate their work in daily life. The workers
migrate from rural areas in search of employment and are unskilled. They are employed in domestic
services as housekeepers, cooks, and gardeners.

Which of the following factors is the most important for the location of recreational and
entertainment services ?

(1) Security

(2) Health facilities

(3) Markets

(4) Transport facilities

Options :
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Read the passage given below and answer the question :

Drought Prone Area Programme was initiated during the Fourth Five Year Plan with the objectives
of providing employment to the people in drought-prone areas and creating productive assets,
Initially, this programme laid emphasis on the construction of labour-intensive civil works. But
later on, it emphasised on irrigaion projects, land developement programmes, afforestation,
grassland development and creation of basic rural infrastructure, such as electricity, roads, market,
credit and services.

The National Committee on Development of Backward Areas reviewed the performance of this
programme. It has been observed that this programme is largely confined to the development of
agriculture and allied sectors with major focus on restoration of ecological balance. Since growing
population pressure is forcing the society to utilise the marginal lands for agriculture, and thereby
causing ecological degradation, there is a need to create alternative employment opportunities in
the drought prone areas. The other strategies of development of these areas include adoption of
integrated watershed development approach at the micro-level. The restoration of ecological balance
between water, soil, plants, and human and animal population should be a basic consideration in
the strategy of development of drought-prone areas.

The Planning Commission of India (1967) identified 67 districts (entire or partly) of the country
prone to drought. The Irrigation Commission (1972) introduced the criterion of 30 per centirrigated
area and demarcated the drought-prone areas. Broadly, the drought prone areas in India spread
over semi-arid and arid tract of Rajasthan, Gujarat, Western Madhya Pradesh, Marathwada region
of Maharashtra, Rayalseema and Telangana plateaus of Andhra Pradesh, Karnataka plateau and
highlands and interior parts of Tamil Nadu. The drought-prone areas of Punjab, Haryana and
north-Rajasthan are largely protected due to spread of irrigation in these regions.

The initial prime objective of Drought Prone Area Development Programme was
(1) Providing employment opportunities

(2) Providing educational facilities

(3) Providing better health facilities

(4) Providing drinking water to every household

Options :
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Read the passage given below and answer the question :

Drought Prone Area Programme was initiated during the Fourth Five Year Plan with the objectives
of providing employment to the people in drought-prone areas and creating productive assets,
Initially, this programme laid emphasis on the construction of labour-intensive civil works. But
later on, it emphasised on irrigaion projects, land developement programmes, afforestation,
grassland development and creation of basic rural infrastructure, such as electricity, roads, market,
credit and services.

The National Committee on Development of Backward Areas reviewed the performance of this
programme. It has been observed that this programme is largely confined to the development of
agriculture and allied sectors with major focus on restoration of ecological balance. Since growing
population pressure is forcing the society to utilise the marginal lands for agriculture, and thereby
causing ecological degradation, there is a need to create alternative employment opportunities in
the drought prone areas. The other strategies of development of these areas include adoption of
integrated watershed development approach at the micro-level. The restoration of ecological balance
between water, soil, plants, and human and animal population should be a basic consideration in
the strategy of development of drought-prone areas.

The Planning Commission of India (1967) identified 67 districts (entire or partly) of the country
prone to drought. The Irrigation Commission (1972) introduced the criterion of 30 per centirrigated
area and demarcated the drought-prone areas. Broadly, the drought prone areas in India spread
over semi-arid and arid tract of Rajasthan, Gujarat, Western Madhya Pradesh, Marathwada region
of Maharashtra, Rayalseema and Telangana plateaus of Andhra Pradesh, Karnataka plateau and
highlands and interior parts of Tamil Nadu. The drought-prone areas of Punjab, Haryana and
north-Rajasthan are largely protected due to spread of irrigation in these regions.

During which of the following years, Irrigation Commission of India introduced the criterion for
demarcating drought prone areas ?

(1) 1968
(2) 1970
(3) 1972
4) 1974
Options :
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Read the passage given below and answer the question :

Drought Prone Area Programme was initiated during the Fourth Five Year Plan with the objectives
of providing employment to the people in drought-prone areas and creating productive assets,
Initially, this programme laid emphasis on the construction of labour-intensive civil works. But
later on, it emphasised on irrigaion projects, land developement programmes, afforestation,
grassland development and creation of basic rural infrastructure, such as electricity, roads, market,
credit and services.

The National Committee on Development of Backward Areas reviewed the performance of this
programme. It has been observed that this programme is largely confined to the development of
agriculture and allied sectors with major focus on restoration of ecological balance. Since growing
population pressure is forcing the society to utilise the marginal lands for agriculture, and thereby
causing ecological degradation, there is a need to create alternative employment opportunities in
the drought prone areas. The other strategies of development of these areas include adoption of
integrated watershed development approach at the micro-level. The restoration of ecological balance
between water, soil, plants, and human and animal population should be a basic consideration in
the strategy of development of drought-prone areas.

The Planning Commission of India (1967) identified 67 districts (entire or partly) of the country
prone to drought. The Irrigation Commission (1972) introduced the criterion of 30 per centirrigated
area and demarcated the drought-prone areas. Broadly, the drought prone areas in India spread
over semi-arid and arid tract of Rajasthan, Gujarat, Western Madhya Pradesh, Marathwada region
of Maharashtra, Rayalseema and Telangana plateaus of Andhra Pradesh, Karnataka plateau and
highlands and interior parts of Tamil Nadu. The drought-prone areas of Punjab, Haryana and
north-Rajasthan are largely protected due to spread of irrigation in these regions.

Which of the followings reviewed the performance of drought prone area development programme ?
(1) Planning Commission of India

(2) National Committee on Development of Backward Areas

(3) Irrigation Commission, Ministry of Agriculture

(4) Central Water Commission

Options :
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Read the passage given below and answer the question :

Drought Prone Area Programme was initiated during the Fourth Five Year Plan with the objectives
of providing employment to the people in drought-prone areas and creating productive assets,
Initially, this programme laid emphasis on the construction of labour-intensive civil works. But
later on, it emphasised on irrigaion projects, land developement programmes, afforestation,
grassland development and creation of basic rural infrastructure, such as electricity, roads, market,
credit and services.

The National Committee on Development of Backward Areas reviewed the performance of this
programme. It has been observed that this programme is largely confined to the development of
agriculture and allied sectors with major focus on restoration of ecological balance. Since growing
population pressure is forcing the society to utilise the marginal lands for agriculture, and thereby
causing ecological degradation, there is a need to create alternative employment opportunities in
the drought prone areas. The other strategies of development of these areas include adoption of
integrated watershed development approach at the micro-level. The restoration of ecological balance
between water, soil, plants, and human and animal population should be a basic consideration in
the strategy of development of drought-prone areas.

The Planning Commission of India (1967) identified 67 districts (entire or partly) of the country
prone to drought. The Irrigation Commission (1972) introduced the criterion of 30 per centirrigated
area and demarcated the drought-prone areas. Broadly, the drought prone areas in India spread
over semi-arid and arid tract of Rajasthan, Gujarat, Western Madhya Pradesh, Marathwada region
of Maharashtra, Rayalseema and Telangana plateaus of Andhra Pradesh, Karnataka plateau and
highlands and interior parts of Tamil Nadu. The drought-prone areas of Punjab, Haryana and
north-Rajasthan are largely protected due to spread of irrigation in these regions.

Planning Commission of India identified districts as drought prone.
(1) 65
(2) 67
(3) 69
4) 71
Options :
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Read the passage given below and answer the question :

Drought Prone Area Programme was initiated during the Fourth Five Year Plan with the objectives
of providing employment to the people in drought-prone areas and creating productive assets,
Initially, this programme laid emphasis on the construction of labour-intensive civil works. But
later on, it emphasised on irrigaion projects, land developement programmes, afforestation,
grassland development and creation of basic rural infrastructure, such as electricity, roads, market,
credit and services.

The National Committee on Development of Backward Areas reviewed the performance of this
programme. It has been observed that this programme is largely confined to the development of
agriculture and allied sectors with major focus on restoration of ecological balance. Since growing
population pressure is forcing the society to utilise the marginal lands for agriculture, and thereby
causing ecological degradation, there is a need to create alternative employment opportunities in
the drought prone areas. The other strategies of development of these areas include adoption of
integrated watershed development approach at the micro-level. The restoration of ecological balance
between water, soil, plants, and human and animal population should be a basic consideration in
the strategy of development of drought-prone areas.

The Planning Commission of India (1967) identified 67 districts (entire or partly) of the country
prone to drought. The Irrigation Commission (1972) introduced the criterion of 30 per centirrigated
area and demarcated the drought-prone areas. Broadly, the drought prone areas in India spread
over semi-arid and arid tract of Rajasthan, Gujarat, Western Madhya Pradesh, Marathwada region
of Maharashtra, Rayalseema and Telangana plateaus of Andhra Pradesh, Karnataka plateau and
highlands and interior parts of Tamil Nadu. The drought-prone areas of Punjab, Haryana and
north-Rajasthan are largely protected due to spread of irrigation in these regions.

Which of the following is NOT included in the drought prone areas of India ?
(1) Marathwada region of Maharashtra

(2) Rayalseema and Telangana plateaus of Andhra Pradesh

(3) Purvanchal region of Uttar Pradesh

(4) Western Madhya Pradesh

Options :

54025057237. 1
54025057238. 2
54025057239. 3
54025057240. 4

Question Number : 150 Question Id : 54025014310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension Comp?2




Trefeiam enyT sl UgeRt I T U9 ol 3T ST |

T Heiferd 8151 TR i YESATd well Yeesid e W g | 9 Sivd @ Hifad &= | @il 6
USTTR YA FHLEHT AR W F F9E hI HH H % oI e & qel 1 fowfag s o gree
TEaHTa AeH T $HF HrEes i IR fawgd foman ) 9RY # 39 FEiwy & siqifa uF fafae fmto st
R aa fean wan i sifuss gfrerl o1 savasRar Bl 81 g o] H 3ud fHaE ufdEsed, b fawm
Harsit W SR fea

Tree &3 o fasm =1 UL wfafa 3 9 wEEa F fraraam &) avven #i fSad = g = 5 =g
Hrfd Hrrd: FfY a1 98 ddg el % faw o € Hiffd ¥ oK yafewit dqee e oY 5eE
oy =et feon T | swEen gfg % SR | S % fau dia gt @ s s F faw e § fmd
qiitfeafaria fefie 8 @ 81 ofa: gan g9 &9 § defoas TR stat 61 639 1 staeasd ¢
T &5 1 ForT 3= WA | gEH-TR R gHfed So-GR e Sriwn s i ¥
g Gt &3 o ok s wrEtfa # 5@, gy, @, aea 9o oy SeEen & &9 uifefis @y,
TF:39199 W J&d &9 § &A1 fean i1 =nfeu |
1967 H ArsHT SREE 5 <9 H 67 Tl (qui =1 Aiferen) wg=m g "l fel & &9 H i1 1972 | fq=
STRIFT A 30 gfavra fEfad & &1 Auee oieht Ja@n Suret &= 1 afidme foeam | e | g dymEt &
T TS, To, UfYeHt Hea Yeu, HeRrte & TISarg] 47, 31y Yew & {Herdid SR a@ SR,
FATeF TSR IR dfFeTg w3 gfa qen tiafe 9 % ek IR std-yek e H % gu ¥ ders,
BRET 3K ST USE & g yuifad 49 f5EE 6 R % R0 9@ 9 99 & ¥

e 8 4 7 @ 9Ra F gEn geanfaa 45 & st T Q2
(1) WBRIE 1 HISATS! &5

(2) STFY YW &1 TS 3R T&THl T8R

(3) W YW H AT &

(4) ufv=rdt gex TEw

Options :

54025057237. 1
54025057238.2
54025057239. 3
54025057240. 4

Physical Education
Group Number : 4
Group Id : 540250266
Group Maximum Duration : 45
Group Minimum Duration : 45
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 200
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
Physical Education
Section Id : 540250322
Section Number : 1
Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 50



Number of Questions to be attempted : 40

Section Marks : 200
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 540250891
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 151 Question Id : 54025014311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Gymnastics is the proud legacy of culture.
(1) Indian
(2) European
(3) Chinese
(4) Roman
Options :

54025057241. 1
54025057242. 2
54025057243. 3
54025057244. 4

Question Number : 151 Question Id : 54025014311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

(1) AT
(2) T
(3) =t

(4) Tra

Options :

54025057241. 1
54025057242. 2
54025057243. 3
54025057244. 4

Question Number : 152 Question Id : 54025014312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Outdoor sports are a proud legacy of culture.

(1) Roman
(2) Scandanavian
(3) European
(4) China
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Who out of the following said, “Man is a Social animal” ?
(1) Connelly

(2) Baron

(3) Aristotle

(4) Richardson
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Floating javelin in air is an example of which of the following type of friction ?
(1) Fluid Friction
(2) Static Friction
(3) Kinetic Friction
(4) Rolling Friction
Options :
54025057253. 1
54025057254, 2

54025057255. 3
54025057256. 4

Question Number : 154 Question Id : 54025014314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

ZaT ® Ay wren Faferfea § 7 B v & oo w7 v s 82
(1) 7= =T

(2) =ife wfor

(3) Tzt =i

(4) FAFHT oy

Options :

54025057253. 1
54025057254.2
54025057255. 3
54025057256. 4

Question Number : 155 Question Id : 54025014315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Society is a protective shield, a/an media and a psychological sanctuary for human
beings.

(1) Cultural

(2) Social

(3) Educative
(4) Economical
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Question Number : 156 Question Id : 54025014316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

activities because of their universal acceptance and acclaim as a cultural extravaganza,
makes them an exhibit of cultures across the world.
(1) Style of music
(2)  Art forms
(3) Sporting
(4) Dancing styles
Options :
54025057261. 1
54025057262. 2

54025057263. 3
54025057264. 4

Question Number : 156 Question Id : 54025014316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

wfafafiat st arawtas =hefa v us aresfas @ ¥ w7 § 9T F F, 559
T v it Fepfaat w1 v=efr 3= aar 2
(1) =g & di=tt
(2) Tt F =T
(3) BT Tl
(4) Tex Gt

Options :

54025057261. 1
54025057262. 2
54025057263. 3
54025057264. 4

Question Number : 157 Question Id : 54025014317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ




Identify the correct combination of weight of medicine ball for boys and girls used in Medicine Ball
Put Test ?
(1) Boys - 2kgs and Girls - 1.5kgs
(2) Boys - 3kgs and Girls - 1.5kgs
(3) Boys - 2kgs and Girls - 1kg
(4) Boys - 3kgs and Girls - 1kg
Options :
54025057265. 1
54025057266. 2

54025057267. 3
54025057268. 4

Question Number : 157 Question Id : 54025014317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Ffefam ater = == § sram B s A @t i wefEt F o atfw ot F g F ad @69
it F37?

(1) == - 2 f¥err sfiv sreft - 1.5 e

(2) =% - 3 Frety sirw wrefe - 1.5 By

(3) == - 2 fa ofiw el - 1 ey

(4) 7= - 3 Tt sl wreforat - 1 By

Options :

54025057265. 1
54025057266. 2
54025057267. 3
54025057268. 4

Question Number : 158 Question Id : 54025014318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Isokinetic method was developed by :
(1) HC Buck

(2) Joy Perrny

(3) J.J. Perrine

(4) ].J. Coubertin

Options :

54025057269. 1
54025057270. 2
54025057271. 3
54025057272. 4

Question Number : 158 Question Id : 54025014318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




srzETETEATeF A fErr gre e i of?
(1) m=. 3=

(2) it weAt

(3) A5 afe=

(4) .5, FrafeT

Options :

54025057269. 1
54025057270. 2
54025057271. 3
54025057272. 4

Question Number : 159 Question Id : 54025014319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

exercise result in toned muscles and increased muscle length.

(1) Isotonic

(2) Isometric

(3) Isonomy

(4) Fartlek
Options :

54025057273. 1
54025057274. 2
54025057275. 3
54025057276. 4

Question Number : 159 Question Id : 54025014319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

= F afmmeEE 2e aieaforat o araaforat £ sard § a@ed 2t 2
(1) srearEaS
(2) Tufaretr (sreemite)
(3) srEIATHT
(4) FTE=
Options :
54025057273. 1
54025057274. 2

54025057275. 3
54025057276. 4

Question Number : 160 Question Id : 54025014320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




If Cyclic Fixture Method is used in a league tournament of 6 teams, then in which of the following
round “Team-3” will play a match with “Team-1"?

(1) Round - IV
(2) Round - II

(3) Round -1
(4) Round - V
Options :

54025057277. 1
54025057278.2
54025057279. 3
54025057280. 4

Question Number : 160 Question Id : 54025014320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

6 T F v fr TATHz ¥ 7ft i e R e e s g, T RefRa s a ftm e |
S -3 "Fry 1" F ary f =EE?

(1) TS - IV

(2) TSz - I

(3) TS - |

(4) TTET - V

Options :

54025057277. 1
54025057278. 2
54025057279. 3
54025057280. 4

Question Number : 161 Question Id : 54025014321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

The number of teams participating in different knockout tournaments are given below. Which one
of the following will have maximum number of “byes” ?

(1) 56
2) 33
(3) 40
(4) 38

Options :

54025057281. 1
54025057282. 2
54025057283. 3
54025057284. 4

Question Number : 161 Question Id : 54025014321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ




fafers atwaree zatie & wor a9 are fat A d@er = & 0 g Fafetes & F G s § e &
srferFay =T 2RM?
(1)56
(2)33
(3)40
(4)38
Options :
54025057281. 1
54025057282. 2

54025057283. 3
54025057284. 4

Question Number : 162 Question Id : 54025014322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

In a knock-out tournament, a fixture is drawn for 13 teams. Which of the following team will get
3rd pye ?

(1) Team placed at the 2nd position in the fixture.

(2) Team placed at the 8th position in the fixture.

(3) Team placed at the 3rd position in the fixture.

(4) Team placed at the 7th position in the fixture.

Options :

54025057285. 1
54025057286. 2
54025057287. 3
54025057288. 4

Question Number : 162 Question Id : 54025014322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

UF AlF-ar3e ZAtae #, 13 A9t ¥ o uw My daw B s @) fefERe § 8 G S w fme
ars e

(1) Frea ® oy o we vl T A

(2) o= o e v a7 v T S

(3) forreae ® fw T a7 v T T A

(4) Frare=rT o Arae T o7 v= TS A

Options :

54025057285. 1
54025057286. 2
54025057287. 3
54025057288. 4

Question Number : 163 Question Id : 54025014323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ




poses serious threat to human body. We drink water, inhale air, eat

food and above all live in most

environment. Choose the correct answer from

below mentioned options, which can fit in all the blanks.

(1) Purification/purified

(2) Contamination/Contaminated

(3) Pollution/Polluted
(4) Sludge/Sludged

Options :

54025057289. 1
54025057290. 2
54025057291. 3
54025057292. 4

Question Number : 163 Question Id : 54025014323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
AT o T F o sfie meEer fmr wear 21 e ot i F, AT # T AT E,

AT GTT & A7 T3 Fu Afrwier T § w2d g A= fFw v et § & v sfEe

fFeT 74, sit mft i et § Rz grasar 21

(1) TETT/9qE
(2) forerTor/afoE
(3) srmror/srafe
(4) Fras/F=e F 997
Options :
54025057289. 1
54025057290. 2

54025057291. 3
54025057292. 4

Question Number : 164 Question Id : 54025014324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

Name the disease which affect a very small part of the population. A disease which occurs in a
community or a region clearly in access of its normal expectancy.

(1) Infection

(2) Endemic

(3) Epidemic

(4) Pandemic
Options :

54025057293. 1
54025057294. 2
54025057295. 3
54025057296. 4

Question Number : 164 Question Id : 54025014324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ




I FATE FT ATH FTATCT ST FTTHEAT F TgT DI 27 F TATET FAT g1 UF Ay 0 Bl agarr
S § TP T T AT TATT I T8 Zrat 2l

(1) wwwT

(2) frarasrfr

(3) weraTdt

(4) &3 T

Options :

54025057293. 1
54025057294. 2
54025057295. 3
54025057296. 4

Question Number : 165 Question Id : 54025014325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

defined Health Education as “Combination of learning experiences designed to help
individuals and communities improve their health, by increasing their knowledge or influencing
their attitudes”.

(1) UNDP
(2) UNICEF
(3) UNESCO
(4) WHO

Options :

54025057297. 1
54025057298. 2
54025057299. 3
54025057300. 4

Question Number : 165 Question Id : 54025014325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

F waree [ Fy "SR ST FHETT A1 3% 9 A GETET AT IAF A A wAET w9,
IR FATEST AT AgAY a9 § 7aE Fa F for Bwrea Fw v fww F oaawat F a9t F v §
(1) Tordrdt
(2) 7w
(3) T
(4) T U=

Options :

54025057297. 1
54025057298. 2
54025057299. 3
54025057300. 4

Question Number : 166 Question Id : 54025014326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ




WHO stands for
(1) World Healthy Organisation
(2) Worthy Healthy Organisation
(3) Word Healthy Organisation
(4) World Health Organisation
Options :
54025057301. 1
54025057302. 2

54025057303. 3
54025057304. 4

Question Number : 166 Question Id : 54025014326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

5, T4, (WHO)FT 2T 979 4T 272
(1) P eeer T

(2) I F=TE HIST

(3) o1z TaET HIST

(4) frg =TT HH

Options :

54025057301. 1
54025057302. 2
54025057303. 3
54025057304. 4

Question Number : 167 Question Id : 54025014327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Identify the test being conducted in the picture given below ?

YA D
7/

I ¢
(1) Sit and Reach Test
(2) Chair Sit and Reach Test
(3) Partial Curl up Test
(4) 8 Foot up and go Test

Options :

54025057305. 1
54025057306. 2
54025057307. 3
54025057308. 4



Question Number : 167 Question Id : 54025014327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

#= faw o B & o st @ oo #r weenfAu?

v

By Ns

(1) #rz i T afemor
(2) =77 Az uoe G afver
(3) =Arfors =t oo T
(4) 8 %= o7 U= T %2
Options :
54025057305. 1
54025057306. 2

54025057307. 3
54025057308. 4

Question Number : 168 Question Id : 54025014328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

In method, the speed variation is not planned. The athlete changes the speed on his own
accord.

(1) Repetition
(2) Continuous
(3) Fartlek

(4) Interval

Options :

54025057309. 1
54025057310. 2
54025057311. 3
54025057312. 4

Question Number : 168 Question Id : 54025014328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ




fafer &, afy Frear £ s 78 57 7€ ) vasfiz aoelt 7’ & i F@w@r 2

(1) Treraf
(2)%771'(
(3) wIEAH

(4)81—cr<'.'ﬁ

Options :

54025057309. 1
54025057310. 2
54025057311. 3
54025057312. 4

Question Number : 169 Question Id : 54025014329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

The Harvard Step Test of determining Aerobic Fitness for young men of college age was developed
by

(1) " RA. ]o\ne‘; (2002)

(2) Brouha (1943)

(3) Harold M Barrow (1953)

(4) Harvard (1941)

Options :

54025057313. 1
54025057314. 2
54025057315. 3
54025057316. 4

Question Number : 169 Question Id : 54025014329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Ffes £ 37 F gar geat F fro oafas feaw fuifa s@ e 2o 2w FUAREEILCRER I
T 4T,

(1) =% T STT=T (2002)

(2) =TT (1943)

3) 241eT TH 7T (1953)

(4) T4 (1941)

Options :

54025057313. 1
54025057314.2
54025057315. 3
54025057316. 4

Question Number : 170 Question Id : 54025014330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Which one of the following can be a reason for the range of Co-efficient of friction to be greater
than1 ?

(1) Weaker frictional force
(2)  Frictional force in upper direction
(3) Stronger frictional force
(4) Frictional force in lower direction

Options :

54025057317. 1
54025057318. 2
54025057319. 3
54025057320. 4

Question Number : 170 Question Id : 54025014330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

Frafrfm & 3w a7 =i F st s Serer) £ @ wT 1 & srftrs 29 v v w2 'war

2?

1) FHST THT o
) T fom # = aer
REEGRERIEE]
(4) FR=reft o # =refor &1

Options :

54025057317. 1
54025057318. 2
54025057319. 3
54025057320. 4

(
(2
(3

Question Number : 171 Question Id : 54025014331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

Which one of the following equation is true with respect to force ?

F
e
(2) EFxM=A
(3) FxA=M
4 F+A=M
Options :

54025057321. 1
54025057322. 2
54025057323. 3
54025057324. 4

Question Number : 171 Question Id : 54025014331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




o1 % Tvad ® fferfea & i 3 aeferor 9o 22

F
(1) ﬁ=
(2) FxM=A
(3) FxA=M
4) F+A=M
Options :

54025057321. 1
54025057322. 2
54025057323. 3
54025057324. 4

Question Number : 172 Question Id : 54025014332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Child’s and socialisation occur only in a society.
(1) Growth

(2) Immunisation
(3) Humanisation
(4) Development

Options :

54025057325. 1
54025057326. 2
54025057327.3
54025057328. 4

Question Number : 172 Question Id : 54025014332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

g FT ST FHTSITHTOT FaeT U RIS | AT 2l
(1) 3f=

(2) wfazeror

(3) mTetEToT

(4) P

Options :

54025057325. 1
54025057326. 2
54025057327.3
54025057328. 4

Question Number : 173 Question Id : 54025014333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




“Sanjay is an athlete and always demonstrates new ideas and skill execution initiatives along with
wide variety in ideas”. Which trait of personality out of the following does Sanjay possess ?
(1) Conscientiousness
(2) Openness to experience
(3) Neuroticism
(4) Agreeableness
Options :
54025057329. 1
54025057330. 2

54025057331. 3
54025057332. 4

Question Number : 173 Question Id : 54025014333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

"oy wE waeftE ¥ s ghem Pt # T F avraary v fEw s wee st w9 #@
s F7a &1 w5 % =t | efafm § F s arr 22

(1) FF=famt

(2) HT=AATHEAT

(3) wAIfaEg=eaT

(4) FeHaaT

Options :

54025057329. 1
54025057330.2
54025057331. 3
54025057332. 4

Question Number : 174 Question Id : 54025014334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Mohit prefers to make decision based primarily on logic and on objective analysis of cause and
effect. Which personality function/preference does Mohit exhibits here ?

(1) Sensing
(2) Intuition

(3) Judging
(4) Thinking
Options :

54025057333. 1
54025057334. 2
54025057335.3
54025057336. 4

Question Number : 174 Question Id : 54025014334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ




AT 7oy = § 7% F 41T I 377 FT07 i wwra F 32ew Frapor & swane av for e 15w Fwar 2
rfze B srtere e/t #1 wafda Fwar 22
(1) sa=z7
(2) stastia
I EEED]
(4) Fr=aT
Options :
54025057333. 1
54025057334. 2

54025057335. 3
54025057336. 4

Question Number : 175 Question Id : 54025014335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

Personality is defined as individual’s unique and relatively stable pattern of behaviour, thoughts
and feelings. This definition was given by

(1) Robert A Baron (2008)

(2) Allport (1961)

(3) Cattell (1950)

(4) Eysenck (1953)
Options :
54025057337 1
54025057338. 2

54025057339. 3
54025057340. 4

Question Number : 175 Question Id : 54025014335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

el =1 & =EgTe, A=t i wraerst F sfadtr 6w atemga fuw e & w7 § afivarfte
TAT F A TETATT FTT 41 T2 oft

(1) T2 ™ 477 (2008)

(2) SterdrE (1961)

(3) ¥27 (1950)

(4) srzaeT (1953)

Options :

54025057337. 1
54025057338. 2
54025057339. 3
54025057340. 4

Question Number : 176 Question Id : 54025014336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ




Arrange the following sub-categories of classification of development of endurances as per duration
in a sequence starting from lesser to most duration :

(A) Short term endurance

(B) Medium type endurance

(C) Speed endurance

(D) Long time endurance

Choose the correct answer from the options given below :

(1 (©), (A), B), (D)

(2) (O (A), D), (B)
(3) (D) (B) (A) (O
4)  (A) (©), (B), (D)
Options :

54025057341. 1
54025057342. 2
54025057343. 3
54025057344. 4

Question Number : 176 Question Id : 54025014336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Teaawdr ® B F afteer 6 Fefotea so-aftmt 1 s@=fy F smwr w0 T o9fds safe a6 g 29
AT ATHA | AT T

(A) =TT TEAeTHaT

(B) T THTT TEALTHAT

(C) wfa wrgererqaT

(D) & THT TF TEAeTHAT

= 2w o et ® & At 39 g

(1) (C), (A), (B), (D)

(2) (C), (A), (D), (B)
(3) (D), (B), (A), (C)
(4) (A), (C), (B), (D)

Options :

54025057341. 1
54025057342. 2
54025057343. 3
54025057344. 4

Question Number : 177 Question Id : 54025014337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ




Arrange the following teams participating in knock-out tournament in a sequence on the basis of
byes given to them starting from greater to lesser number of byes.

(A) 64 teams

(B) 58 teams

(C) 65 teams

(D) 50 teams

(E) 11 teams

Choose the correct answer from the options given below :
(1) (O, (D) (B), (B), (A)
(2)  (A), (B), (E), (D), (O)
3) (D) (©), (B) (E), (A)
(4) (O (D) (B), (E), (A)
Options :

54025057345. 1
54025057346. 2
54025057347. 3
54025057348. 4

Question Number : 177 Question Id : 54025014337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Atw-3r32 ZATHz § 91 a4 ardt et St o & s 3wt s F snae o= s #w § safta w1, S
oferF & 7 TedT ® g AR

(A) 64 £

(B) 58 £

(C) 65 &

(D) 50 #r#F

(E) 11 &%

= fam o et # & @@ 29 g

(1) (C). (D), (E), (B), (A)

(2) (A). (B). (E). (D), (C)

(3) (D), (C), (B), (E). (A)

(4) (C), (D), (B), (E), (A)

Options :

54025057345. 1
54025057346. 2
54025057347. 3
54025057348. 4

Question Number : 178 Question Id : 54025014338 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ




Arrange the following postural deformities in a sequential order from head to toe with respect to
different body parts of the human body they are associated with :

(A) Pes planus

(B) Hunch Back
(C) Lordosis

(D) Genu valgum
Choose the correct answer from the options given below :
(1) (B), (Q), (D), (A)
(2)  (B) (Q), (A), (D)
(3)  (A) (D) (O (B)
4)  (B) (A) (Q). D)
Options :

54025057349. 1

54025057350. 2

54025057351. 3
54025057352. 4

Question Number : 178 Question Id : 54025014338 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Fafrfem arfifs g Bt #v ame afe F Bt ot Bed saer g9y 2 % 99y § 92 3 ofg 75
ST w0 Sratea fifm:

(A) F7=T &7 (T )

(B) T= (8 o)

(C) srrgarsTaT (ATEifam)

(D) afRd ST (S FerH)

= 2w o et ® & At 397 g

(1) (B), (C), (D), (A)

(2) (B). (C), (A), (D)

(3) (A), (D), (C), (B)
(4) (B), (A )

Options :

54025057349. 1
54025057350. 2
54025057351. 3
54025057352. 4

): (C), (D

Question Number : 179 Question Id : 54025014339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ




Arrange the following equipments used in different test items according to their weight in a
sequential order starting from lightest to the heaviest weight:

(A) Medicine ball for Boys in Medicine ball throw test of Barrow Motor Ability test

(B) Medicine ball for Girls in Medicine ball throw test of Barrow Motor Ability test

(C) Dumbbell for Men for Arm Curl test of Rikli and Jones Senior Citizen Fitness test
(D) Dumbbell for Women for Arm Curl test of Rikli and Jones Senior Citizen Fitness test
Choose the correct answer from the options given below :

(1) (B), (D) (O), (A)

(2) )
3) (O, (A), D), (B)
4) )
Options :

54025057353. 1

54025057354. 2

54025057355. 3
54025057356. 4

Question Number : 179 Question Id : 54025014339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

At wferor aegalt & s B s arer et sowe # 59F a9 F daE aaEteE w7 F 59
T arferer & srafeora w3
(A) 337 Jr=T erar afveor 3 afRfEm ai= oy e & @zt F fro afkfEa atw
(B) 7Y drz7 erear afveror AR ater o wheror & =i & o afRfRe atw
(C) fraeft sitv e dfifie e AvaaT T 3 o &t 2 & oo gt & o <o
(D) Frareft sfre st #fifRere Rrfemr Aerar wfteror & omd &t 2oz & oo afgersit & oo <9
= 2w o et ® & At 397 g
(1) (B), (D), (C), (A)
(2) (B). (D), (A), (C)
(3) (C), (A). (D), (B)
(4) (B), (A), (D), (C)
Options :
54025057353 1
54025057354. 2

54025057355. 3
54025057356. 4

Question Number : 180 Question Id : 54025014340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ




Arrange the following examples of different types of friction in a sequential order starting from
Rolling friction — Fluid friction — Kinetic friction — Static friction.

(A) Javelin floating in air

(B) When you hit a tennis ball with a racket

(C) Any ball rolling on the ground

(D) Friction produced while rubbing hands

Choose the correct answer from the options given below :
(1) (A), (O, (B), D)

(2) (©) (&) D) (B)

(3)  (B), (©), (A), (D)

(4) (D), (B), (A). ()

Options :

54025057357. 1
54025057358. 2
54025057359. 3
54025057360. 4

Question Number : 180 Question Id : 54025014340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

fafrer ware & =ior & Referfera seevo #r R o spnfaes s & srafRuaa #53  AfeRr s o
—FTZAfeF T R e

(A) 2T & &7 g AT

(B) ST = U e F A aver wr O 8

(C) ST o7 e ATelt #rE oft i

(D) BT ¥ TET THT I =0T

= 2w o et ® & At 39 g

(1) (A), (C), (B). (D)

(2) (C). (A), (D), (B)

(3) (B), (C), (A), (D)

(4) (D), (B), (A), (C)

Options :

54025057357 1
54025057358. 2
54025057359. 3
54025057360. 4

Question Number : 181 Question Id : 54025014341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ




Which one of the following statements are true about LNIPE ?
(A) LNIPE was established in 1957
(B) LNIPE falls under the jurisdiction of the Ministry of Youth Affairs and Sports, Govt. of India

(C) LNIPE offered a 3 - year degree and 2 year Post graduate courses of Physical Education for
the first time in the Country

(D) LNIPE is situated in Thiruvananthapuram, Kerala
Choose the correct answer from the options given below :
(1) (A) and (B) only

(2)  (A) (B) and (D) only

(3) (A), (B) and (C) only

(4) (B)and (C) only

Options :

54025057361. 1

54025057362. 2

54025057363. 3
54025057364. 4

Question Number : 181 Question Id : 54025014341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

TermAarEdtE (LNIPE) % amv # fReferfers & & & a7 e #er 22

(A) LNIPE 7 #ormae 1957 & g% oft

(B) LNIPE 7=t &1 3T &1 HaTeray, AT HYHTY 3 ST 3 At ofmar 8

(C) LNIPE 7 o1 & wgeft a1z ot forear % 3- afior R=Raft ofiw 2 ol =raspae arsersat i Sorswer #
(D) LNIPE fawadaqew, Fver & fora 2

= B faedt 7 7 @ 3= g

(1) %3 (A) 4T (B)

(2) (A), (B) ¥t (D) =t

(3) (A), (B) % (C) et

(4) %= (B) 4% (C)

Options :

54025057361. 1
54025057362.2
54025057363. 3
54025057364. 4

Question Number : 182 Question Id : 54025014342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ




Which of the following career options fall under the umbrella of sports officials during a match ?
(A) Referee

(B) Pathologist

(C) Umpire

(D) Line judge

Choose the correct answer from the options given below :

1) (B), (C) and (D) only

(2) (A), (C) and (D) only
@ (@), ( )and (C) only
(4) (A) and (C) only
Options :

54025057365. 1
54025057366. 2
54025057367. 3
54025057368. 4

Question Number : 182 Question Id : 54025014342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Conpreemson MCG

e & & #t= |7 Yo v &5 % v gttt £ e § aEr 22
(A) THY

(B) Forgfa farsrret

(C) s

(D) ®TET ST

#r= f3w o et ® & @ g9 g

(1) (B), (C) ¥ (D) Fa=
(2) (A), (C) 37 (D) Fa=
(3) (A), (B) 3% (C) Fa=
(4) F (A) 7 (C)

Options :

54025057365. 1
54025057366. 2
54025057367. 3
54025057368. 4

Question Number : 183 Question Id : 54025014343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ




Which of the following are the effects of the Alcohol ?

(A) It leads to gradual physical and psychic dependence on others

(B) It excites cardiovascular system beyond limits creating cardiac disorder

(C) It improves memory

(D) It markedly affects the nervous system, retards memory and gradually cripples sense of reason

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only
(3) (A), (C) and (D) only
(4) (A) (B) and (D) only
Options :

54025057369. 1
54025057370. 2
54025057371. 3
54025057372. 4

Question Number : 183 Question Id : 54025014343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Aafefm & F :19 7 a9 (sreg) F Tq= E ?

(A) 72 90 T FA: o s wrafEe i £ @ smar

(B) =g 7== e far #v avett #mr § W AR Ay Been iy s wwar g
(C) 7 =qfa & qare FTaT &

(D) #E *T2 =7 & 3T 97 F7 wAriET FAr g, T oftw 7 w7 Far g o7 fiv-efT smasat wr oo
FATE

F= o et & & ot e g

(1) (A), (B) &= (C) Tt

(2) (B), (C) & (D) Fa=1

(3) (A), (C) &% (D) Fa=

(4) (A), (B) #irT (D) et

Options :

54025057369. 1
54025057370. 2
54025057371. 3
54025057372. 4

Question Number : 184 Question Id : 54025014344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ




First Aid for soft tissue injuries includes which of the following options ?

(A) Apply an ice pack wrapped in a cloth to the injury for 15 - 20 minutes

(B) Apply an ice pack regularly for a period of 2 - 3 days until the pain and swelling vanishes
(C) The injured area can be lightly massaged

(D) Warm water can be applied to the injured area

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only

(2) (A), (B) and (D) only

(3) (A) and (B) only

(4) (B), (C) and (D) only
Options :

54025057373. 1
54025057374.2
54025057375.3
54025057376. 4

Question Number : 184 Question Id : 54025014344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

T (Soft) Fas #i =2t & fory srrfaes Frften & fufefem § & 5 & fwer e 22

(A) 15 - 20 fo== ¥ foro =iz 72 F92 § 92T g3 UF 7 ¥ St &7 7909 74

(B) 2 - 3 a1 it sl & v Faffm s a af fir St v i 73 919 7% % 22 s gea e 7 2r =i
(C) == FTt FATH it goeht ATforer ¥ ST At ¢

(D) T Tt T AT S TT AT AT TFAT 2

#= B o et ® & gt 3= g

(1) (A), (B) 4% (C) F=ret

(2) (A), (B) &= (D) ==t

(3) F= (A) 4T (B)

(4) (B), (C) #irT (D) Fa=

Options :

54025057373. 1
54025057374. 2
54025057375. 3
54025057376. 4

Question Number : 185 Question Id : 54025014345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




Choose the bodily structural description of Endomorph from the following :
(A) Flat chest

(B) Round body

(C) Clearly defined cheek bones

(D) Small hands and arms

Choose the correct answer from the options given below :

(1) (A) and (B)

(2)  (A)and (O)
3) (B and ©)
(4) (B) and (D)

Options :

54025057377. 1
54025057378.2
54025057379. 3
54025057380. 4

Question Number : 185 Question Id : 54025014345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

fPrefefEm & & 02w ¥ orfiv de=er fao #1 =79 #2795
(A) TaTE ZTeft

(B) et 91T

(C) Fre = | wirwrioa e #t gfZar

(D) =iz BT 9T ST

#r= f3w o et ® & @ g9 g

(1) (A) 4T (B)
(2) (A) &7 (C)
(3) (B) #IT (C)
(4) (B) ¥ (D)

Options :

54025057377. 1
54025057378. 2
54025057379. 3
54025057380. 4

Question Number : 186 Question Id : 54025014346 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




Match the different types of speed listed in List - I with their description listed in List - II.

List - I List - II
(Types of speed) (Description)

(A) Acceleration Ability (I)  Ability to move at a high speed for longer duration of time

(B) Locomotor Ability (II)  Ability to perform a single movement in minimum possible time

(C) Speed Endurance (Il1) To maintain maximum speed when in motion for maximum
possible distance

(D) Movement speed (IV) Ability to achieve high speed of locomotion from a stationary
position

Choose the correct answer from the options given below :
(1) (A)-1V), (B)-(I1D), (O)-(1), (D)-(II)

(2)  (A)-IV), (B)-(D), (O)-(II), (D)-(I)

(3)  (A)-D), (B)-(I), (O-(IV), (D)-(II)

(4)  (A)-D), (B)-@), (O-1V), (D)-(II)
Options :

54025057381. 1
54025057382. 2
54025057383. 3
54025057384. 4

Question Number : 186 Question Id : 54025014346 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

gAY - 1§ g=ftag e g i 7fF =1 e 3=t -9 g=hag 395 a3 arg w3
- | -1l

(fa & w=TY) (Fraron)
(A)  ufrgfz (mrhiferem) emar (I) &= 7w 9% 39 T & 7= $7 emar
(B) TAHINIZT e7HAT (I)  =IAaw F9F T97 | UFHe T F77 FF aw7ar
(C) wifar wEwrewar (ny  wfaefie g o7 srferam garfam 797 § siftmaw wfy
AT 74T
(D) = F wfF (wEHE wiw) (IV) v Rgv & geera &t g afF wra w7 7 emarTs
Fr= o et & | @t e g

(1) (A)-(IV), (B)-(llN). (C)-(1), (D)-(IT)
(2) (A)-(IV), (B)-(1), (C)-(IIN), (D)-(11)
(3) (A)-(D). (B)-(I1), (C)-(IV), (D)-(lIT)
(4) (A)-(ID), (B)-(D). (C)-(IV), (D)-(lIT)

Options :

54025057381. 1

54025057382.2

54025057383. 3

54025057384. 4

Question Number : 187 Question Id : 54025014347 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Match the terms listed in List I with their description listed in List II

List - I List - II
(Terms) (Description)
(A) Seeding (I)  Conducted outside or beyond the walls of the organising unit
(B) Intramural (I) A team does not participate in primary round due to allotment
of draws
(C) Extramural (Il) Conducted within the players of an institution
(D) Bye (IV) A team does not participate in primary round/rounds due to

previous year’s performance

Choose the correct answer from the options given below :
(1) (A1), B)-I), ©)-1V), (D)-{1)

(2)  (A)-(D), (B)-1), (O-(11), (D)}-(IV)
(3)  (A)-(D), (B)-(IV), (O)-(T0), (D)-(II)
(4)  (A)-IV), (B)-(IID), (©)-(0), (D)-(I)
Options :

54025057385. 1
54025057386. 2
54025057387. 3
54025057388. 4

Question Number : 187 Question Id : 54025014347 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ

-l & Pt orsst v e gt 11 & 3 oy & A
Tt - | Tt - 1

(a=7) (Frar)
(A)  #HifEr (Iy =TS 2T & SaTe ¥ e a7 39 7¥ Arafer £ ST &
(B) Zzrerw (1) 2t srE=s % F1o0r uF S grafes 7§ 9 985 o6l g
(C) wFETE A () v weT F fefEt F S oo fF e g
(D) aTE (V) w= fm s 3 F w=eiq F Freor g mee/aden § anr
T ot @
#=r fam o freet & F 78t 397 g

(1) (A)-(111), (B)-(l), (C)-(IV), (D)-(1)
(2) (A)-(11), (B)-(1), (C)-(IN), (D)-(1V)
(3) (A)-(1). (B)-(IV), (C)-(I1), (D)-(1)
(4) (A)-(IV), (B)-(ll1), (C)-(, (D)-(IT)

Options :

54025057385. 1
54025057386. 2
54025057387. 3
54025057388. 4

Question Number : 188 Question Id : 54025014348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ




Match the figures listed in List I with the test items listed in List IL

List - I List - I
(Figures) (Test Items)
*Fg" i
(A) agg;. () Shuttle Run
(B) = & & (I) Sit and Reach
O ma () Partial curl up
£ &—r IV) Standing Broad Jum
& P

Choose the correct answer from the options given below :

(1) (A)-0I), (B)-(IV), (O)-(I), (D)-(I)

(2)  (A)-V), (B)-(1D), (©)-(0), (D)-(I)
(3) (A)-(0), (B )(), (O)-(1V), (D)~(I)
(4) (A1), (B)-(II), (O, (D)-(IV)
Options :

54025057389. 1
54025057390. 2
54025057391. 3
54025057392. 4

Question Number : 188 Question Id : 54025014348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




A | 7 Fefrag Bt o fem g ft 1| § oferor 721 & a7 w3

=T -l
(rreor ww)

(A) () e

(B) ‘{;—*g:\é‘ n fRedehe

(C) (1) =aifors Fel-arg

(D) (V) ==t =E 52
start/in:sh m;‘;-,-_ e : * ~:

= faw o et § & @t g9 gA:

(1) (A)-(111), (B)-(1V), (C)-(IN), (D)-(1)
(2) (A)-(IV), (B)-(11T), (C)-(1), (D)-(IT)
(3) (A)-(IN), (B)-(1), (C)-(IV), (D)-(lIT)
(4) (A)-(1), (B)-(11), (C)-(1lN), (D)-(1V)

Options :

54025057389. 1
54025057390. 2
54025057391. 3
54025057392. 4

Question Number : 189 Question Id : 54025014349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match the benefits of Exercise as given in List I with their description as given in List II.

List - I List - II
(Benefits of Exercise) (Description)
(A) Psychological well being  (I) Balance between caloric intake and energy consumption
(B) Weight management (I) To learn from adverse conditions
(C) Socialization (IlI) Brings positive changes in the mental and physical well
being
(D) Leadership qualities (IV) To overcome social isolation and tackle loneliness

Choose the correct answer from the options given below :
(1) (A, (B)-IV), (O)-), (D)-{I)

(2)  (A)-(ID), (B) (1), (©)- ( ) ( )-(1V)

(3)  (A)-(11), (B)-D), (C )( ) (D)-(1I)

(4)  (A)-IV), (B)-(1D), (C)-(D), (D)-(II)

Options :

54025057393. 1

54025057394. 2

54025057395. 3
54025057396. 4

Question Number : 189 Question Id : 54025014349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

gt | 7 R s ¥ vt w5 e =l 1| # B swe faew F Ay w1
g - | T -l

(SATITH F FATH) (Far=rom)
(A) TSR FeT ()  FY FaT S HS1 6T GId & AT dqT
(B) =S WEHUA (I witEe affRafet & dfew & o
(C) =THTSHHTT () wmEF i ol =7 7 =AYy ¥ aeEas uhaad
AT
(D) A= W (IV) =TaTfSr 1o i1 37 F94 3T sror 7 faoes & oo
= B o Rrepedt § & @ g9 qfA:

(1) (A)-(111), (B)-(1V), (C)-(1D), (D)-(1)
(2) (A)-(l), (B)-(1), (C)-(1), (D)-(1V)
(3) (A)-(1), (B)-(1), (C)-(1V), (D)-(I1)
(4) (A)-(IV), (B)-(ll), (C)-(1), (D)-(11)

Options :

54025057393. 1
54025057394. 2
54025057395. 3
54025057396. 4

Question Number : 190 Question Id : 54025014350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Match the types and Technique of motivation listed in List I with their description listed in List II.

List - 1 List - II
(Types and Techniques (Description)
of Motivation)
(A) Extrinsic Motivation (I)  Natural instincts, urges and impulses of the
individual
(B) Social Support Strategy (II) ~ Creating drive among people to maintain
Sporting Environment
(C) Intrinsic Motivation (IIT) Expectancy and Goal Setting Theory
(D) Cognitive approach for Motivation (IV) Rewards, incentives and appreciations

Choose the correct answer from the options given below :
(1) (A)-(1), (B)-(IV), (O-11), (D)-[0)

(2)  (A)-Q1), (B)-(ID), (O)-1V), (D)-()
(3)  (A)-1D), B)-1), (O, (D)-(IV)
(4)  (A)-IV), B)-(ID), (C)-(D), (D)-(II)
Options :

54025057397. 1
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Read the below given passage carefully and answer question from strictly as per the content
of the paragraph :

During 1896 Modern Olympic Games, Physical Education was given a new shape. The “Age”
of games training started around 1850 AD. The time 1859 to 1900 AD was known as display trick-
art period, because during this period there were no Physical Education teachers or games coaches.

The profession of games coaching started around the year 1920, when professional coaches
and Physical Education teachers entered the field of games. During this period, self experience of
the players and instructors/coach was used to be the main guiding line.

Scientific and organised games training period started from the year 1940 AD, and up to the
year 1960 AD, Games training methods, patterns policies and systems got indirect changes and
refineness. It was during this period that physical education was established as a profession and
got assistance from scientific methods and Principles of Physical Education were established.

Today, Physical Education is a respected subject and profession, because it has passed through
successfully, all those tests which are required by any subject for getting recognition as a professional
subject.

During which of the following games, physical education was given a new shape ?
(1) 1900 Modern Olympic Games
(2) 1896 Modern Olympic Games
(3) 1904 Modern Olympic Games
(4) 1908 Modern Olympic Games

Options :
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Read the below given passage carefully and answer question from strictly as per the content
of the paragraph :

During 1896 Modern Olympic Games, Physical Education was given a new shape. The “Age”
of games training started around 1850 AD. The time 1859 to 1900 AD was known as display trick-
art period, because during this period there were no Physical Education teachers or games coaches.

The profession of games coaching started around the year 1920, when professional coaches
and Physical Education teachers entered the field of games. During this period, self experience of
the players and instructors/coach was used to be the main guiding line.

Scientific and organised games training period started from the year 1940 AD, and up to the
year 1960 AD, Games training methods, patterns policies and systems got indirect changes and
refineness. It was during this period that physical education was established as a profession and
got assistance from scientific methods and Principles of Physical Education were established.

Today, Physical Education is a respected subject and profession, because it has passed through
successfully, all those tests which are required by any subject for getting recognition as a professional
subject.

During which of the following periods there were no physical education teacher ?
(1) 1910 to 1920 AD
(2) 1920 to 1940 AD
(3) 1859 to 1900 AD
(4) 1912 to 1920 AD

Options :
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Read the below given passage carefully and answer question from strictly as per the content
of the paragraph :

During 1896 Modern Olympic Games, Physical Education was given a new shape. The “Age”
of games training started around 1850 AD. The time 1859 to 1900 AD was known as display trick-
art period, because during this period there were no Physical Education teachers or games coaches.

The profession of games coaching started around the year 1920, when professional coaches
and Physical Education teachers entered the field of games. During this period, self experience of
the players and instructors/coach was used to be the main guiding line.

Scientific and organised games training period started from the year 1940 AD, and up to the
year 1960 AD, Games training methods, patterns policies and systems got indirect changes and
refineness. It was during this period that physical education was established as a profession and
got assistance from scientific methods and Principles of Physical Education were established.

Today, Physical Education is a respected subject and profession, because it has passed through
successfully, all those tests which are required by any subject for getting recognition as a professional
subject.

Why Physical Education is treated as a profession ?
(1) Itis liked by all sports men/women
(2) Itis an easy subject
(3) It has passed all the test required for being a professional subject
(4) Itis an interesting subject
Options :
54025057409. 1
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Read the below given passage carefully and answer question from strictly as per the content
of the paragraph :

During 1896 Modern Olympic Games, Physical Education was given a new shape. The “Age”
of games training started around 1850 AD. The time 1859 to 1900 AD was known as display trick-
art period, because during this period there were no Physical Education teachers or games coaches.

The profession of games coaching started around the year 1920, when professional coaches
and Physical Education teachers entered the field of games. During this period, self experience of
the players and instructors/coach was used to be the main guiding line.

Scientific and organised games training period started from the year 1940 AD, and up to the
year 1960 AD, Games training methods, patterns policies and systems got indirect changes and
refineness. It was during this period that physical education was established as a profession and
got assistance from scientific methods and Principles of Physical Education were established.

Today, Physical Education is a respected subject and profession, because it has passed through
successfully, all those tests which are required by any subject for getting recognition as a professional
subject.

Which of the following started from the year 1940 AD?
(1) Display trick-art period
(2) Olympic games were given a new shape
(3) The profession of games coaching started
(4) Scientific games training period
Options :
54025057413. 1
54025057414. 2
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Read the below given passage carefully and answer question from strictly as per the content
of the paragraph :

During 1896 Modern Olympic Games, Physical Education was given a new shape. The “Age”
of games training started around 1850 AD. The time 1859 to 1900 AD was known as display trick-
art period, because during this period there were no Physical Education teachers or games coaches.

The profession of games coaching started around the year 1920, when professional coaches
and Physical Education teachers entered the field of games. During this period, self experience of
the players and instructors/coach was used to be the main guiding line.

Scientific and organised games training period started from the year 1940 AD, and up to the
year 1960 AD, Games training methods, patterns policies and systems got indirect changes and
refineness. [t was during this period that physical education was established as a profession and
got assistance from scientific methods and Principles of Physical Education were established.

Today, Physical Education is a respected subject and profession, because it has passed through
successfully, all those tests which are required by any subject for getting recognition as a professional
subject.

During, 1920 what was used to be the main guiding line ?
(1)  Principles of physical education

(2)  Self experience of the players and coaches

(3) Modern Olympic Games

(4) Display trick-art
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Read the below given passage carefully and answer question from strictly as per the content
of the paragraph :

Slipped capital femoral epiphysis is a displacement of the femoral head from the femoral
neck because of a weakness in the epiphyseal plate. The approximate age range this condition
occurs is ages 13 to 16 in boys and ages 11 to 14 in girls (Loder et al., 1993). It is seen in youths who
have predisposing factors such as a recent growth spurt, an imbalance of sex hormones and growth
hormones, and who are overweight or have a lanky build. The patient reports an insidious, gradual
onset of pain in the groin that can refer to the thigh and knee in chronic slips. Less often, the
patient experiences an acute slipped capital femoral epiphysis that presents with a sudden onset
of pain and disability following a traumatic event. Pain produces an antalgic gait.

Examination reveals restriction of hip medial rotation, abduction, and flexion, with the greatest
restriction in medial rotation. During active hip flexion, the hip also moves into lateral rotation. In
a relaxed position, the leg is in greater lateral rotation than the contralateral limb. Hip abductors
are weak.

Possible differential diagnoses with groin, anterior thigh, and knee pain must be investigated.
Other possible diagnoses are fracture, tumor, hernias, strains, and contusions. An evaluation of
the patient’s history, hip motion, motion patterns, pain level, and strength helps the clinician
determine other possible sources of the patient’s pain.

Treatment includes open reduction and internal fixation followed by partial weight bearing
for two to six weeks. Isometric exercises immediately postoperatively, followed by open kinetic
chain exercises, are used early in the rehabilitation process. Aquatic exercises after the surgical
incision has healed and the patient is still partial weight bearing are used to achieve range-of-
motion and strength gains. Once full weight bearing is permitted, the patient continues to use the
crutches until normal gait and hip control are evident. Stork standing and other proprioception
exercises progress as tolerated when unilateral weight-bearing activities are permissible. The
therapeutic exercise progression follows that for other fractures once the patient is full weight
bearing.

Who amongst the following Authors/Researchers opined that the approximate age range of femoral
epiphysis in boys is 13 to 16 years ?

(1) Krestmer and Associates

(2) Dr. Surgeon and his team

(3) Dr. Sheldon and Associates

(4) Loder et al.

Options :
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Read the below given passage carefully and answer question from strictly as per the content
of the paragraph :

Slipped capital femoral epiphysis is a displacement of the femoral head from the femoral
neck because of a weakness in the epiphyseal plate. The approximate age range this condition
occurs is ages 13 to 16 in boys and ages 11 to 14 in girls (Loder et al., 1993). It is seen in youths who
have predisposing factors such as a recent growth spurt, an imbalance of sex hormones and growth
hormones, and who are overweight or have a lanky build. The patient reports an insidious, gradual
onset of pain in the groin that can refer to the thigh and knee in chronic slips. Less often, the
patient experiences an acute slipped capital femoral epiphysis that presents with a sudden onset
of pain and disability following a traumatic event. Pain produces an antalgic gait.

Examination reveals restriction of hip medial rotation, abduction, and flexion, with the greatest
restriction in medial rotation. During active hip flexion, the hip also moves into lateral rotation. In
a relaxed position, the leg is in greater lateral rotation than the contralateral limb. Hip abductors
are weak.

Possible differential diagnoses with groin, anterior thigh, and knee pain must be investigated.
Other possible diagnoses are fracture, tumor, hernias, strains, and contusions. An evaluation of
the patient’s history, hip motion, motion patterns, pain level, and strength helps the clinician
determine other possible sources of the patient’s pain.

Treatment includes open reduction and internal fixation followed by partial weight bearing
for two to six weeks. Isometric exercises immediately postoperatively, followed by open kinetic
chain exercises, are used early in the rehabilitation process. Aquatic exercises after the surgical
incision has healed and the patient is still partial weight bearing are used to achieve range-of-
motion and strength gains. Once full weight bearing is permitted, the patient continues to use the
crutches until normal gait and hip control are evident. Stork standing and other proprioception
exercises progress as tolerated when unilateral weight-bearing activities are permissible. The
therapeutic exercise progression follows that for other fractures once the patient is full weight
bearing.

Which of the following medical condition arise due to weak epiphyseal plate ?
(1) Dislocation of shoulder joint
(2) Slipped capital humural epiphysis
(3) Slipped capital femoral epiphysis
(4) Slipped disc of lumber region
Options :
54025057425. 1
54025057426. 2

54025057427. 3
54025057428. 4

Question Number : 197 Question Id : 54025014357 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension Comp2




i fw T rerier Fr ererEE 0 o drrws i arnft ¥ e S w3

e Ffoes e offsRe offSGee = § +asrd F Frr 32 =59 3 3= @7 71 B
g1 7z Rafa 2 areft srqerfaa s o st # 13 & 16 7 e swefF & 11 & 14 70 & 31q € (=7
T 3 1993)1 AT I AT F T Arav 2 SrAd grer £ § G # 450, f gt o G grate w1
FEAT T FTLF §, AT T ATAF 9 JTe & AT A gEe-wa g WA T (Feror/srT) § sdEedr 55 f
effr-efiy reamra &t s smar & ST QT BT § S o gee i datia 7 "Wt g a5 w9 ar, Wi
s vFge Reree Ffteer S wfafEREe #1 aaws Far 2 S UF T4 g2 % 9% 71 o B i
AT ST & T Toqd 2raT ¢l 7% UF vartosts e a1 F7ar 2

T § 0ar Frar ¢ B B afRwe veem, srsgwe s weraae #7 vtaey 2, e #itgw aeam
a9 F2T gaEy g1 "trr By e ¥ aem, Ry ard e #§ oft =79 o €1 v s Y Rafa F, 4w
sfameft st it gemT # aftrs avd 7ol ¥ grar 21 B smads wusie g 2

FHT, THAAT AT MY T2 F 7% F Aq7T HA1ET siae Fa & s £ g lRm e anfEa
wTeror T S, =, 2T, B2 6w degEw £ Tl ¥ efiem, ge Y afY, i 4, 2w e
AT T geatsa e 1 700 3 22 3% a=r gt =t i Rytfia #0938 geg F7ar 2)

IO H 2 & =g wae F oo are Reaem i st Rt F arg wifors aw agq anfae 2
ATEATATEF AV qFq Teeaiqiied & &, THF 15 AT Fedled =9 A, TIad TAaT § Toat
AT T ST 21 afSrRe =T S 21 F 978 St =y S Tfr oY oft siferr aww A ww wmr g,
ST o afy & @wr she afts @r ym A F oo G et 81 uE 9w of a9 agq w9 A
et 2 % AT off, TRl SETET T ST FEAT S T@dr § 99 qF G A /e o7 fieg 7 s
=g 2N eIl =2 2 s ser e = a9 929 R 91§ 99 U UsaTH a9-agd
TRttt f sl 2t &1 s avr wiR uE are IEf g o 9 & a9 S ¥ arE e
Serare ¥ for B wreft 2

et & 3 w1 ff HEFe R Fasne v @ & s sere 2T 22
(1) %8 F e 71 BT

(2) fEmree Ffteer exqeer vhufsfEm
(3) ez Ffeer S viafefm
(4) R e o oqrav R

Options :

54025057425. 1
54025057426. 2
54025057427. 3
54025057428. 4

Question Number : 198 Question Id : 54025014358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension Comp2




Read the below given passage carefully and answer question from strictly as per the content
of the paragraph :

Slipped capital femoral epiphysis is a displacement of the femoral head from the femoral
neck because of a weakness in the epiphyseal plate. The approximate age range this condition
occurs is ages 13 to 16 in boys and ages 11 to 14 in girls (Loder et al., 1993). It is seen in youths who
have predisposing factors such as a recent growth spurt, an imbalance of sex hormones and growth
hormones, and who are overweight or have a lanky build. The patient reports an insidious, gradual
onset of pain in the groin that can refer to the thigh and knee in chronic slips. Less often, the
patient experiences an acute slipped capital femoral epiphysis that presents with a sudden onset
of pain and disability following a traumatic event. Pain produces an antalgic gait.

Examination reveals restriction of hip medial rotation, abduction, and flexion, with the greatest
restriction in medial rotation. During active hip flexion, the hip also moves into lateral rotation. In
a relaxed position, the leg is in greater lateral rotation than the contralateral limb. Hip abductors
are weak.

Possible differential diagnoses with groin, anterior thigh, and knee pain must be investigated.
Other possible diagnoses are fracture, tumor, hernias, strains, and contusions. An evaluation of
the patient’s history, hip motion, motion patterns, pain level, and strength helps the clinician
determine other possible sources of the patient’s pain.

Treatment includes open reduction and internal fixation followed by partial weight bearing
for two to six weeks. Isometric exercises immediately postoperatively, followed by open kinetic
chain exercises, are used early in the rehabilitation process. Aquatic exercises after the surgical
incision has healed and the patient is still partial weight bearing are used to achieve range-of-
motion and strength gains. Once full weight bearing is permitted, the patient continues to use the
crutches until normal gait and hip control are evident. Stork standing and other proprioception
exercises progress as tolerated when unilateral weight-bearing activities are permissible. The
therapeutic exercise progression follows that for other fractures once the patient is full weight
bearing.

Why are water exercises used in a condition where patients after surgery can partially bear their
weight ?

(1) To reduce pain

(2) Toimprove gait

(3) To achieve range of motion and strength gains

(4) To enhance antalgic gait
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Read the below given passage carefully and answer question from strictly as per the content
of the paragraph :

Slipped capital femoral epiphysis is a displacement of the femoral head from the femoral
neck because of a weakness in the epiphyseal plate. The approximate age range this condition
occurs is ages 13 to 16 in boys and ages 11 to 14 in girls (Loder et al., 1993). It is seen in youths who
have predisposing factors such as a recent growth spurt, an imbalance of sex hormones and growth
hormones, and who are overweight or have a lanky build. The patient reports an insidious, gradual
onset of pain in the groin that can refer to the thigh and knee in chronic slips. Less often, the
patient experiences an acute slipped capital femoral epiphysis that presents with a sudden onset
of pain and disability following a traumatic event. Pain produces an antalgic gait.

Examination reveals restriction of hip medial rotation, abduction, and flexion, with the greatest
restriction in medial rotation. During active hip flexion, the hip also moves into lateral rotation. In
a relaxed position, the leg is in greater lateral rotation than the contralateral limb. Hip abductors
are weak.

Possible differential diagnoses with groin, anterior thigh, and knee pain must be investigated.
Other possible diagnoses are fracture, tumor, hernias, strains, and contusions. An evaluation of
the patient’s history, hip motion, motion patterns, pain level, and strength helps the clinician
determine other possible sources of the patient’s pain.

Treatment includes open reduction and internal fixation followed by partial weight bearing
for two to six weeks. Isometric exercises immediately postoperatively, followed by open kinetic
chain exercises, are used early in the rehabilitation process. Aquatic exercises after the surgical
incision has healed and the patient is still partial weight bearing are used to achieve range-of-
motion and strength gains. Once full weight bearing is permitted, the patient continues to use the
crutches until normal gait and hip control are evident. Stork standing and other proprioception
exercises progress as tolerated when unilateral weight-bearing activities are permissible. The
therapeutic exercise progression follows that for other fractures once the patient is full weight
bearing.

A few of the causes leading to slipped capital femoral epiphysis in youth are :

(1) Recent growth spurt, imbalance of growth harmones, over weight or lanky build

(2) Inability of the body to produce insulin, malfunctioning of harmones and ectomorphic build
(3) Sudden growth spurt, limited strength and passive life style

(4) Hormonal imbalance, hereditary traits and malfunctioning of nervous system
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Read the below given passage carefully and answer question from strictly as per the content
of the paragraph :

Slipped capital femoral epiphysis is a displacement of the femoral head from the femoral
neck because of a weakness in the epiphyseal plate. The approximate age range this condition
occurs is ages 13 to 16 in boys and ages 11 to 14 in girls (Loder et al., 1993). It is seen in youths who
have predisposing factors such as a recent growth spurt, an imbalance of sex hormones and growth
hormones, and who are overweight or have a lanky build. The patient reports an insidious, gradual
onset of pain in the groin that can refer to the thigh and knee in chronic slips. Less often, the
patient experiences an acute slipped capital femoral epiphysis that presents with a sudden onset
of pain and disability following a traumatic event. Pain produces an antalgic gait.

Examination reveals restriction of hip medial rotation, abduction, and flexion, with the greatest
restriction in medial rotation. During active hip flexion, the hip also moves into lateral rotation. In
a relaxed position, the leg is in greater lateral rotation than the contralateral limb. Hip abductors
are weak.

Possible differential diagnoses with groin, anterior thigh, and knee pain must be investigated.
Other possible diagnoses are fracture, tumor, hernias, strains, and contusions. An evaluation of
the patient’s history, hip motion, motion patterns, pain level, and strength helps the clinician
determine other possible sources of the patient’s pain.

Treatment includes open reduction and internal fixation followed by partial weight bearing
for two to six weeks. Isometric exercises immediately postoperatively, followed by open kinetic
chain exercises, are used early in the rehabilitation process. Aquatic exercises after the surgical
incision has healed and the patient is still partial weight bearing are used to achieve range-of-
motion and strength gains. Once full weight bearing is permitted, the patient continues to use the
crutches until normal gait and hip control are evident. Stork standing and other proprioception
exercises progress as tolerated when unilateral weight-bearing activities are permissible. The
therapeutic exercise progression follows that for other fractures once the patient is full weight
bearing.

Symptoms of Slipped Capital Femoral Epiphysis are :
(1) Insidious and gradual onset of pain in the groin
(2) Pain while moving arms and difficulty in walking
(3) Pain in the lower abdomen and antalgic gait
(4) Sudden on set of pain with swollen feet
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